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Question Number : 1 Question Id : 91394318631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options:

1304373001 £\ learner’s brain develops faster in childhood.



T A learner learns effectively when it is supported with real life examples

What a learner can do with help and without help.
91394273203,

a1394373204 Friends interaction is very important for proper development of child.
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Question Number : 2 Question Id : 91394318632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options:

91594373505 HlUMaNism, Commercialisation, Urbanisation, Hinduism

T — Naturalism, Humanism, Internationalism, Idealism

1594575507 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394373208,
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91334573205

91334573206
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91334573207

91334573208
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study of the theory and practice of self-determined learning that focuses on the
importance of knowing how to learn is known as :

Options:

LIS ooy
1504373009 LPIStemology

N T " TLr
91394373210, Andragogy

Pedacoov
91394373211, agos)

Heutag¢oovy
91394373212, oo/
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Options:

B1334573208.

TTEITeq Jomet

91334573210,

91334573211, ‘Fm A2

91394373212, SATeH - 3AfeT
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The construction of thought process, which includes remembering, problem solving and
decision making, is called as :

Options:

Andracoey
91394373213, 5986}

y PR
"5y HOgY
91334573214, I 2, cholc &)

dYodacoov
91394373215, Pedagogy

Cognitive development
91394373216,
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The field of study dealing with methods and principles used in adult education is known
as :

Options:

> RS PR ;
91394373217, IE[{‘I?)[}ETF

2 T i T
91394373218, Andrd‘_%mg)}

Anthropoloev
41394373219, POIOEY

012843753550 Gerontology
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215394273218,

91334573219,

SETerstt (SH-fa=m)

215394273220,
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Correct Marks: 2 Wrong Marks: 0

The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b)  Method of intuition

(c) Method of authority

(d) Method of science

(e) Method of creativity

(f)  Method of non-functionality
Code :
Options:

(b), (c) and (d)

91394373221 (a),

(b), (¢), (d) and (e)

B1334573222.

(d), (e) and (f)

B133457 3223, (b)’

1394373204 (©) (d), (e) and (f)
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(@), (b), (c) 3R (d)

91334573221,

c), (d) 3R (e)

91394373222 (b)’ (

91394373223, (0) (d), (&) &R ()

a1394373224, (O (), (€) 3R (f)
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One way to measure the extent to which a measure is free of random error is to compute
its :
Options:

o139437300c CONtENt validity

Experimenter’s bias
91394373226

Test-retest reliability
91394373227, :

SRS Demand characteristics
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Question Number : 8 Question Id : 91394318638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options:

91394373229, Emphasis on evidence
Focus on empiricism

91394373230,

91394373231 Reductionism

91394573232, Obsession with ::reatlwt}-'
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Correct Marks: 2 Wrong Marks: O
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Options:

91334573229, HIET W EﬁT

IIHFEAR R SR

215394273250

91334573221, % ’
913394573232, i ¥ % ‘srﬁ:{ o j

Question Number : 9 Question Id : 91394318639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which method is appropriate to reduce random error ?

Options:

o1304373233, Dclect large sample size

" 'L‘ I.-| - B _1 _'! 3 i -_
91394373934 Administer the test after a gap of one week

Gromnas Administer the treatment in the same way every time

150437303 Lrdminister manipulation checks
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 10 Question Id : 91394318640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In relation to code of conduct in research, what does APA stand for ?
Options:

R Advanced Psychological Authority

American Psvcholoeical Association
91394373238, . YRR M e

|_1 1 Jl‘ T 1 -r. - l-L. ,I_.'_. c2 )
SRRy Australian Psychological Association

Association of Psvcholoeical Assessments
91394373240, S FRRGIOR s
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Correct Marks: 2 WrongMarks: 0
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Question Id : 91394318641 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is m.stecld to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not likely to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394318642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options:



a1594373041 10 Percent

9. -
Q1394375242 _U pEI’LEHt

~y o
01394373243, 00 percent

4(0) percent
91394373244,

Question Number : 12 Question Id : 91394318643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why should the governments be open to privatisation of airports ?
Options:

- L'! T '3 Ir - T - : " L'|
G Because they own many airports

Because there is a battle for growth
91394373246

For necessary u:apita[
91394373247, .

LB B s . _ el . e
91594373548 ['o limit the government contr ol of aviation mduatr},

Question Number : 13 Question Id : 91394318644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b)  Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options:

(a), (b) and (c)

91334573249,

(b), (c) and (d)

B1334573250.

(c), (d) and (a)

91334573251,



and (b)

91394373252, (d), (a)

Question Number : 14 Question Id : 91394318645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the key for making airports function efficiently ?
Options:

C Ve 50 anies as minority s )
150437500y Make private companies as minority shareholders

2 i 10 1Y 4 1 - 1 - - E 5
) . s to rers.
a15043730c, L TOVIde misaligned incentives to managers

0} ‘l. 3 g k4 3 e L. .’ 8] - e .L. - ." L, - y ,_-_
a15943730sc Recognise political imperatives of bureaucrats appointed as managers

Avoid structures of confused incentives to managers.
91394373256

Question Number : 15 Question Id : 91394318646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-.Q

Which of the following is the focal inference of the author in the passage

Options:

b F . = S . o et
: wnership o wrts does no :
SR Private ownership of airports does not mean efficient management

1394373005 Growth of the aviation industry is distorted.

Airports are not an obstacle to the erowth of aviation industry.
91394373259, RS it : gre f avie Y

Government-owned airports are known for high performance.
91394373280,

Question Id : 91394318641 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Correct Marks: 2 Wrong Marks: 0
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Options:
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(@), (b) 3R ()

91334573249,

(b), (c) 3R (d)

91334573250,

(©), (d) 3R (a)

B1334573251.

(d), (a) 3R (b)

2153394273252,
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Correct Marks: 2 Wrong Marks: O

Signs are considered as secondary products of :

Options:
R

91394373261 MESSAGE

91394373262 Channelisation

Semantic accura cy
91334573263, "

91394373264, Infotainment
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Correct Marks: 2 Wrong Marks: 0
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Options:

9T

B91334573261.
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Correct Marks: 2 Wrong Marks: 0

The relational approach in classroom communication comes from :
Options:
91394373065 INIra-personal communication

[nter-personal communication
91394373266

it - s g
139437325, OTganisational communication

91394373268, Mass communication
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Correct Marks: 2 Wrong Marks: 0
Classroom speech is considered as a :

Options:
91394373269, 1 echnical medium

91394373270, INON-technical medium



91394373071 Mass medium

150437307, UNOrganised medium
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TG HATI0T ST ST |1 ] € 2

Options:

91334573269, deh-ilehl HIEIH

91394373270, TR-TqehIeh] HIEAH

215394273271, ST HIEIH

9139437357 S1od HIEAH
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In a classroom, communication becomes effective when participants are :
( Active

( Empathetic
(c) Heterophilous
(d) Homophilous
(

(

e) Silent
f) Uncritical
Code :
Options:

91394373273, (a), (b), (c) and (d)

91394375574 (b), (c) (d) and (e)

(a), (b), and (d)

B1334573275.

91394373276, (c). () and (f)
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Options:

(@), (b), (c) 3R (d)

B1334573273.

0), (d) 3R (e)

91394373274, (b)’ (

91334573275,

B133457 3276,

Question Number : 20 Question Id : 91394318651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Owvert
(c) Non-functional
(d) Indirect

(e) Third party

(

fy  Testing

Options:

(a), (b), (d) and (e)

1334573277,



91394373278, (b), (c), (e) and (f)
91394373279, (b), (d), (e) and (f)

s1394373280. (3)r (D), (€) and (f)
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(a), (b), (d) 3R (e)

1334573277,

(b), (c), (e) AR (f)

913345735278,

(b), (d), (e) 3 (f)

91334573279,

(a), (b), () 3T ()

91334573280,
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Correct Marks: 2 Wrong Marks: O
If DIVE is coded as IMYG, then the code for TAKE will be :

Options:

2153394273281, XFMG



H9133457 3282, YENG

B133457 3283, TEMG

91334573284, XENG

Question Number : 21 Question Id : 91394318652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gfg DIVE &1 IMYG % ®9 H Feag fan Sira € @ TAKE &1 2 31 :

Options:

91394373281, XEMG

91334573282, YENG

TFEMG
91394373283,

91334573284, XENG

Question Number : 22 Question Id : 91394318653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The next term in the series is :

o6, 40, 27, 17, 10,

Options:

B133457 3285, 6
B133457 3286, 7

91334573287,

2153394273288, >

Question Number : 22 Question Id : 91394318653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TH @l @l I SIS
06, 40, 27, 17, 10,

Options:




91334573285, 6
91334573286, 7

B133457 3257, 8

o

91334573288,

Question Number : 23 Question Id : 91394318654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series is ;

ME, KH, IK, GN, IS :

Options:

B1334573289. hQ
91334573230, CK

a1394373291. bD

913943?3292_L)L

Question Number : 23 Question Id : 91394318654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
0 AT 1 A HIT :
ME, KH, IK, GN,

Options:

91334573259, LQ

91334573230, CK

215394273291, BD

91394373090 DT

Question Number : 24 Question Id : 91394318655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the word which is different from the rest.
Options:
91394373293, L}'E“’

91394373294 LNOSE

Legﬁ.
91394373295,

21594273256, Hands

Question Number : 24 Question Id : 91394318655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFeferfiad | 9 9fe 9= g :

Options:

e

B133457 3293, AC

91394373294, D
91394373205 UX
B

13394273256

Question Number : 25 Question Id : 91394318656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options:

o1594373097 Lather

a1za437300 orandfather

91394373299, Brother-in-law

1394373200 I ather-in-law

Question Number : 25 Question Id : 91394318656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
| e, H AU | 1 3T Aot ¢ 99 A% 361 U Agh i 3IR 39N Fd gU e, ' IE
dAeH T A F i F ufa T

W &1 39 TH § 71 oy 2
Options:

91334573257, I Il

B133457 3298, =

-l

215394273299

91394373300, hle -1l

Question Number : 26 Question Id : 91394318657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :

(i)  All hard-working people are teachers.
(i)  All teachers are not women.
(iii) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options:
912334573201, (l) and (ll)
(ii) and (iii)
91334573202,
(1) and (iv)
2153342733035,
(iii) and (iv)
91334573204,

Question Number : 26 Question Id : 91394318657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= T suR-aE R T € (a) 3R (b) |
99 § =R freend 3g9a forn T €1 39 Fe 1 e 9 freed (df) 9 Sfea & § seora o
T [STHR-aT 1 Ushed ®9 T 41 G450 &9 9 oid 89 |

MU AT :  (a) F HigelU (e 2 |

(b) |t foreyas et €1

Frrend () | e e e ¥
(i) 9t forerss AfgaTd 72 € |
(iii) FS T e Afeand €1
(iv) D Afedrd Hed 2 |

e

Options:

G1394373201. (l) aﬂ-{ (l‘.l)

Q1=29427=202, (l'.l) a:ﬁ-{ (LLI'.)

Q1=29427 3202, ([) \3ﬂ_{ (IV)

Q1394273204 (I_Ll) Sﬂ'{ (IV)

Question Number : 27 Question Id : 91394318658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following arguments the conclusion can be no more than probable ?

Options:
Implicative

91394373305, P 1€

1394373306 AANalogical

91394373307, Deductive

91394373305 Lemonstrative

Question Number : 27 Question Id : 91394318658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafaa § 9 f7g 9% ° fory dus 9 s1fues =8 &1 91 22

Options:



215334273305, i

B1233457 3206,

91334573307, (H A

UeYcHh
Q129427 3208.

Question Number : 28 Question Id : 91394318659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“To slow a beast, you break its limbs.

To slow a nation, you break its people.”
- Identify the argument involved in the above :

Options:
91394373300, INductive

51394373310 Deductive

Analoeical
91394373311, s - e

913945735312, Demonstrative

Question Number : 28 Question Id : 91394318659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot et 9y 1 Tfd AfEH F & AU 2119 39F 3 Fi died € |
Tt T2 1 WOId T o ToT0 3119 =@l & i § &) Scdd #id e |

3T | Hf=fed deh g
Options:

HATHATHR
913943733209, ¢

91394373310, 1 1ATICH

215394273511, H|%%¢“'~"‘|Ch



9153394273312 AR

Question Number : 29 Question Id : 91394318660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options:

91334573213, Inductive

91394373314, Deductive

91394373315 Lemonstrative

91394573516, Analogical

Question Number : 29 Question Id : 91394318660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“ aremETeR SR TSR o A TaRme SeY difches STavaeRdl € - 98 Ui fAefaied # 9 g 96
HRae?

Options:
[
91394373313, SITHAICHEh

[

91394373314, |1 IHAICHh

91394373315, A@XITICHN

91334573216, N |%?‘3-||T"|q?

Question Number : 30 Question Id : 91394318661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options:



(a) and (b)

91334573217,

(a) and (d)

2915334273315,

(b) and (d)

B1334573219.

(b) and (c)

913345732320,

Question Number : 30 Question Id : 91394318661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafaa wemi § < w9 Th g & TR foled €1 2= Fsfua &3 aren $2 9 :

HIF : (a) O vAfafhas fAfeds €
(b) F© TeArafHs fafhds €|
(©) T UAAfHEH fafhas &l |
(d) = Veafafmas fafeas T § |

%

Options:

91594373317, (ﬂ) aﬂ_{ (b}

91394372218, (a) afﬂ-{ (d-)

91394=372319. (h) a:ﬁT (d-)

Q1394=3732320. (b) 3ﬂ-{ (E)

Sub-Section Number: 4
Sub-Section 1d: 913943962
Question Shuffling Allowed : Yes

Question Id : 91394318662 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension



Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394318663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average speed of cab A for the three days taken together is approximately :
Options:

91394373321, 10 km/hr

a1594373322. 20 km/hr

2 -
91334373323, U km/hr

91394373324, 2V km/ hr

Question Number : 32 Question Id : 91394318664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference between the average speed of cab C and cab E on Monday is :

Options:
91394373305, 11 kms/hr

91394373326, 21 kms/hr

U o - N
91594373527, 31 [\[Tlhfhf

41 kms/ hr

2153394273328,

Question Number : 33 Question Id : 91394318665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which cab travelled the most in the three days taken together ?

Options:

91394373329, D

2912334573230, C

913345733351, D

913345735332,

Question Id : 91394318662 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

E

Question Numbers: (31to 33)
Juestion Label - Comprehension

HHER TR ECEL
I ELl I ) g Ll
e (R H) | (fRHELH) | (ki) | (L") | (&H) | (. 9)

A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D i 744 15 825 14 840
E 14 826 14 728 12 840

ISP difcie H I o fhamie 3K &4 A, B, C, D, 3R E g1 4HaR, Hear iR g9ar &l ad
U 77T 53] T &N T |
IUYF ATdhel 1 STAN HId U < S T Y94i o S <iforg |

Sub questions

Question Number : 31 Question Id : 91394318663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel TRt & ‘A’ &1 @ Teai @1 3irad Tifa e g

Options:

10 TeReATHTeT i e

9153394273321,

20 fRaATHT 9fd e
30 ferardTeT gfd se

B133457 3322,

2153942735325,



40 ToRerHeT gfd =

913345735324,

Question Number : 32 Question Id : 91394318664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHAR &1 %9 C 3 Fd E 1 379d 7 § o sfav 22

Options:

91394373305, 11 ThIHIEY HId =]

21 TohemTe wfd e

B133457 3326

31 e 9fd Sel

B1334573327.

91394373305, 21 [RCAHIZ HId =

Question Number : 33 Question Id : 91394318665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o i ° oy e gr0 weliiyes g 9F =i 72 ?

Options:

91334573329, B
91334573230, C

B91334573521.

913345735332, B

Sub-Section Number: 5
Sub-Section Id: 913943963
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394318666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options:



~
v

A

91334573533,

91334573354,

O O

913345735355, O

(Oc

21594273556, \

\Q/

Question Number : 34 Question Id : 91394318666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fratafaa § 9 fog wafas ¥ vra, fava 3iv 72 fooodt & == wdiaq dd4y 1 Fefua fHa g2

Options:
(o)~
_

7. \

9133457353353,

=)

91334573354,

9153394273355,

9133457353356,

Question Number : 35 Question Id : 91394318667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?



Options:

B13345732337.

91334573238, -

2, 8
D/

II_.-
|"'-
L

o

|

B13345735339. =

) ()
91394373340, Q O

Question Number : 35 Question Id : 91394318667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafaa § § o @t § 9RER, aier SR 5e A/ Al & a9 HeY % Jarag €9 4
frefug fear 22
Options:

1)
AN LS
91394373337,

Y
g s

“ON
-

P
l

215394273558,

7O
W0

91334573339,

Y C

III'H_H.\I
L

L

91334573340,

Question Number : 36 Question Id : 91394318668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not a Network Topology ?

Options:



Imo
Q1=29427=241. J'{[n'D

91394373342, Chain

215394273345, Bus

91394373344, Star

Question Number : 36 Question Id : 91394318668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefad ° 9 -5 T2 gitefa (SrmErst) T8 €2

fa

291533942735341.

913345732342, |
913345373343, K

91334573244, SR

Question Number : 37 Question Id : 91394318669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following :
List - I List - II
i)  Outlook

) Browser (
b) Programming Language  (ii) DOS
) (

(

cl

—

L

——

Operating System
d) E-mail
he correct code is :

B 9 9

91334573245, (1) (I'.I_I'.) (I_I'.) (IV)

iii) Internet Explorer

p—

iv) Fortran

-

s1394373346, W) (V) (i) ()



91334573247, (I_I'.) (ILI'.) ([V) (l)

2915334273345, (IV) (I'.I_I'.) (LI'.) (1)

Question Number : 37 Question Id : 91394318669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferferfiad 1 e =% -

T - 1 10
(a) SIESH (
() S e i) <
(c) 3T oy (
(d) -9 (
@@%:

(a) (b) (c) (d)
s @@ @

B123345732346. (LI'.I'.) (I'.V) (I_I'.) (l)

91394373347, (i) () (@v) (D)

91334573248,

Question Number : 38 Question Id : 91394318670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following denotes the Internet hardware requirements ?
(a) Hub
(b) Bridge
(c) Router
(d) Gateway
(e) Modem
Code :

Options:

(e) only
91394373349, :

(a), (b) and (e)

B91334573350.

(b), (¢), (d) and (e)

91334573351,

91394373355 (a), (b), (¢), (d) and (e)

Question Number : 38 Question Id : 91394318670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAfafEd | 9 ShiH-41 3231 TedaR AEYIHAIs shl <90dl g 2

91334573249, ((-_‘)

(a), (b) 3R (e)

B91334573350.



(b), (c), (d) 3T (e)

912334573251,

0), (d) S (e)

91394373352, (a), (b), (

Question Number : 39 Question Id : 91394318671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A set of rules used in communications in a network is called :

Options:

91394373355 Interface

B =
91394373354 L TOtOCOL

91394373355, Address

91394373355, Reference

Question Number : 39 Question Id : 91394318671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 429 & GUu0 § Ygad i & I=94 &1 Fel Il © ¢
Options:

91334573353, :
913345735354, I”!ll g

91334573355, " ?‘
THH

91334573356,

Question Number : 40 Question Id : 91394318672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are pointing devices ?

(a) Trackball (b)  Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options:



2R i
91394373357, (a) only

(a) and (d)

91334573358,

(a), (b) and (d)

91334573359,

s1394373380. (@) (D), (€) and (d)

Question Number : 40 Question Id : 91394318672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefafad § 9 s[A-9 @i Ui g 2

Sad (a)
(a) 3R (d)

91334573357,

91334573358,

(a), (b) 3R (d)

913345735359,

(a), (b), (c) ¥R (d)

91334573260,

Question Number : 41 Question Id : 91394318673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options:

Telaneana, Andhra Pradesh, Tamil Nadu
91394373361

a139437336> Odisha, Karnataka, Kerala

SR Sikkim, Punjab, Arunachal Pradesh



S — Jharkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394318673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IR H Y fefa v & 9 | ek s1eeA o ) fefaiad 9 9 fa v 8 g 9 feed =0
e TR SE T E 2

Options:
- T, Y e, g

291334273361

91394373362 O FS9l, FAIeh, Hid

91504373365, [TIFRH, TSI, STEUTHA Yol

91334573564

Question Number : 42 Question Id : 91394318674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most harmful types of environmental pﬂﬂutants are :
Options:

- r.- - . Ir-.- 2] 2
01394373365 Human organic wastes

T I.-| L, " s .-_
913945373366, Wastes from faecal matter

a139437336> Non-biodegradable chemicals

- - L b "I X " 5 G
91394373368, Natural nutrients present 1n excess

Question Number : 42 Question Id : 91394318674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qaTYe BN JAEg Ygue ¢ :
Options:

=) ¢
a1394373365. HIMG Sd AU

fawal 51 319ad

2153394273566,



TR-SE3TI&og 9

B133457 3367,

Thides e dedi a1 e

91334573568,

Question Number : 43 Question Id : 91394318675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :
Options:

1394373360 DOth (A) and (R) are true and (R) is the correct explanation of (A).

o1304373370 DOt (A) and (R) are true and (R) is not the correct explanation of (A).

a1394373371 (A) is true, but (R) is false.

o1394373372 (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394318675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AR (A) :  WIHdSH 19 98 AHUF TAeRT-gad 394 2|

WHIT (R) : % &9 o YT (Rl 37 SAed S99 i 37Ua HH Ygueh dcd AR Ufd e
Fel H H Fe SRS 3cd7 2l ¢ |

he

Options:

91394373389, (A) R (R) S HE1 E 3R (R), (A) F1 el AT 2 |
(A) 3T (R) SFI T&l € 3R (R), (A) 1 Tl =M1 T8 © |

91394373370,
91394373371, (A) el %! féh_-g (R) TTeAd gl
91394373372, (A) TeTd g, I%hq (R) HE 2 |

Question Number : 44 Question Id : 91394318676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What percentage of energy coming from the Sun is re-radiated towards the space ?
Options:

i Q
91334573373, 15%

25%
91394373374,

30%
91394373375. 30 %

0
B13345735376. 20 %

Question Number : 44 Question Id : 91394318676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g4 Y ITYA ol o1 oo Hiaqera sfdfel § g fafwfia 2 272

Options:

—.
913943?33?3.-15’0

VP59
913943?33?4_"5'”

L | ]
913943?33?5_~“U /o

%
91394373376, 20%

Question Number : 45 Question Id : 91394318677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options:

2153394273377,

91334573378,

91334573379,

B1334573380. 16

Question Number : 45 Question Id : 91394318677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2153394273377, 15

913345735378,

13345732379, 28

91334573280, 16

Question Number : 46 Question Id : 91394318678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options:

1 C
21594273581, 49

()
r..p' J

2153942735382,

H1334573583. o8

62
91334573354, i

Question Number : 46 Question Id : 91394318678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 3FTH, 2018 i Fefq & SATHR 3751, §F1 J=Ia1 e g3y e Feemeri oI gaa favataene
Hﬂﬂ'@ﬂ%

Options:

qC
B1334573581. 4%

]
r-.. J

B133457 35382,

91334573383,

62
91394373384,

Question Number : 47 Question Id : 91394318679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
Match the following :

List - I List - II
Open University

) i)  Odisha State Open University, Odisha
(b)  Dual Mode University

i)  Amity University

(d) Deemed University

(
(
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(iv) University of Mumbai, Mumbai
(

(e) Specialised University v)  School of Planning and Architecture, New Delhi

Options:

91394373385, (i) (i) (v) (1) (iv)
91394373386, 0 (v) (1) (D) (v)
91394373387, (v) (@O (v) () (i)

o139437338g, W) () (1) (iv) (V)

Question Number : 47 Question Id : 91394318679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freifera =1 gaferd = -
T - 1 = - 11
a) T Tavaie=me™ i)  Aifewm W g favafeaame, sfem

(

(i) UHS feavafa=e
c) Tufya ey favafaame (iii) YA fom 95 H, STdE

(

(

(
(b) & EEY fovafaaed
(

| anltl e

iv) Heg favafamm, qes

d) Wi favaia=me

(
(e) Toreroman wrd fergafemmera

v) TTarem wd e faamed, 15 el

Options:

o1394373385. W) (@) (v) (@) ()



B133457 32386, (1) (IV) (LI'.) (I_LI'.) (V)

B13345732387. (V) (l) (IV) (I_I'.) [:I_LI'.)

91334573388, (I_I'.) (I_LI'.) (1) (IV) (V)

Question Number : 48 Question Id : 91394318680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
Q139427 3289.

(i) and (iii)
913345732350,

(ii) and (iii)
Q129437323291

(i) and (iv)
Q13943733292

Question Number : 48 Question Id : 91394318680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. ue. AR g Frefefiaa gt d Sh-d wrgde e wit sFfeare e oive 2o fi =il
fmER?

(i) dred (e Aem,), ferh
(i)  UH.LEE.E., i

(iii)  ferarifia, oo

(iv) ufedt gfafid, T

= fqu Mo Fe # @ | I g
w2

Options:



(1) U5 (ii)
91394373389 h

(1) U4 (iii)
91394373390, ™

(ii) TS (iii)
91394373391 «

(ii) UF (iv)
Q1=294373392, «

Question Number : 49 Question Id : 91394318681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the first states to establish a higher education council was :

Options:

| Sikkim

91334573333

Goa
91394373394,

- n Iy =
91394373395, Andhra Pradesh

01394373305 Jammu and Kashmir

Question Number : 49 Question Id : 91394318681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ool Toreqr uftug sl ST 3 9Tl 98l T4 § 9 T @

Options:

9133453733392, IEI hy
91334573394, “

913345733595, S 3

S 3R HYHR

2153394273356,

Question Number : 50 Question Id : 91394318682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
State higher education councils are established under the instruction of :



Options:

NITI Ayog

2153394273397,

91394373398, RUSA

CABE

215334273399,

2 I
2912334573400, PUSA

Question Number : 50 Question Id : 91394318682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T I=aal. Tren afug ol Tmaen fohdeh 37eS & A=id 2idl o 2

Options:

91334573397, l |~3:|'|?f|'r[

91334573398, &
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212394273299
91394373400, li
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Question Number : 51 Question Id : 91394318683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A price reduction leads to an increase in the quantity demanded of the

commodity.
Reason (R): It results from price effects comprising income and substitution effects which
are always positive.
Code:
Options:
Both (A) and (R) are correct and (R) is the right explanation of (A).
291394273401,
Both (A) and (R) are correct, but (R) is not the right explanation of (A).
212394273402,
(A) is correct, but (R) is incorrect.
91394373403,
Both (A) and (R) are incorrect.
291394273404,

Question Number : 51 Question Id : 91394318683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fr &t o fo o &, o & o i (A) B i@ 7% (R) 8 1 el i afen ot e fig o
Fe & TE F T I g |
ayfirrer (A) - T59 FH B4 A agg R widft md g A afg @ @
7% (R) g qeq wTE & Fvn gt & oo ey sit wftresres wara ofifea € ot @da g

B E |
%He:
Options:
3t o
01394373401, 7 (R) St &l & @41 (R), (A) 1 wel wamen & |
T I LT s am——
91394373402,

(A) §8 B, T (R) Teid 8 |
91394373403,



A) # (R Ted & |
91394273404, @ 3 R®) T g

Question Number : 52 Question Id : 91394318684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Indicate the correct code from the following types of the long run average cost curves on
which the minimum average cost of production in long run can be determined :

(i) Long run average cost curve under normal production function
(ii) Long run average cost curve under linearly homogeneous production function
(iii) Planning curve

(iv) Envelope curve

Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
91294373405,

Only (ii), (iii) and (iv)
915942373406,

Only (i), (iii) and (iv)
Q1394=372407.

Only (ii) and (iv)
912943732408,

Question Number : 52 Question Id : 91394318684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ <rafafy sitaa @rma o6, % 30 vor & fo @@t e # =37 fifon fa w dufafy §
IeaTeA <t =aw sftad @rra & Frafoor fen g
(i) | I9EH B & F-aria frefafy sied o 5%

(il) T G9EY IS T & A=aiid raiaty dEd AT 96
(iii) Frrem o
(iv) THTEE (THdeTd) S5

Hre fou o e # | @t I w g
% :

Options:

Fae (1), (ii) 3 (iii)
91394373405,

Fae (ih), (iii) 31 (iv)
91394373406,



Fae (1), (iii) 3 (iv)
91394373407,

e (i) 3 (iid)
91394373408,

Question Number : 53 Question Id : 91394318685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Monopoly situation in the market is not desirable mainly because the monopolist

Options:

seeks to earn net revenue on the sale of all goods including those involving no cost of

production
91394373409

is able to earn net revenue in all time periods
91394373410,

is able to charge different prices from different categories of buyers
Q1394373411 are P teg Y

will produce below its economic capacity level when it exhibits satisfaction with the normal

profit only.
21394273412,

Question Number : 53 Question Id : 91394318685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT § w6 feufe qead: saEtelt gt § wife i

Options:

ot aegat &t fasht w Frae e AT =R 8, 39 aega Wt e o e ot seare @ T

et 2
91394373409,

91394373410, ot guarafiat 4 fae e s 9= o g g @

fafira #oft & shanadt & svem-stem Fiva aq@ g% 8
91394373411

Wl 9 haol GIETA oy 8 Ggfee qular 8, @ 98 v sl srmar Tt @ %R Ieres wdn @
91394373412,

Question Number : 54 Question Id : 91394318686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Indicate the correct code for appropriate combination of the following that constitutes the
form of price discriminating strategy :

(i) Postage stamp pricing

(ii) Basing point pricing

(iii) Incremental pricing

(iv) Free on Board pricing

Choose the correct answer from the code given below :

Code :
Options:

Only (i), (ii) and (iii)
Q15942372413

Only (ii), (iii) and (iv)
291394273414,

Only (i), (ii) and (iv)
Q1394273415

Only (iii) and (iv)
91394373416,

Question Number : 54 Question Id : 91394318686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qea fasigrardt wrfife & &9 %1 189 F3 aTet gl % I9Y GatoH g Wal $e 1 99 i
(i) =1 fewe g

(i) smariied famg qeam
(iii) gfgate qea
(iv) ufEes srra g (k.3 4h.) geam

fr=r feu o g2 # @ wdt I H g
Hhe:

Options:

FAe (1), (ii) 31 (iiD)
913943734153,

e (i), (i) 3 (iv)
Q1=394=27=414,

e (1), (ii) 3 (iv)
91394373415,

Fae (iii) 3 (iv)
91394373416,



Question Number : 55 Question Id : 91394318687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Indicate the correct code for discounted cash flow techniques for capital investment
proposals from the following :

(i) Net Present Value Method

(ii) Internal Rate of Return method
(iii) Excess Benefit-Cost Ratio method
(iv) Net Terminal Value method

Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
91394372417,

Only (ii), (iii) and (iv)
91594373415,

Only (i) and (ii)
915924373419

Only (ii) and (iv)
Q1394=372420.

Question Number : 55 Question Id : 91394318687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frferfiga # & ot e wearai & o wigrepa Teve vame qetenl < forg aet 2 1 == hife
() Fraa sdom ge fafa

(i) wftree & srafes g 6 fafy

(iii) sferfes wmv-smTa s fafy

(iv) Fraa smafus gea fafy

fr= fow o e A & wdlt I+ g
C T

Options:

Fae (1), (i) 3 (iid)
91394373417,

FaE (i), (i) 3T (iv)
91394373418,

e (1) A (i)
91394373419,

FAd (i) 3 (iv)
91394373420,



Question Number : 56 Question Id : 91394318688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Indicate the correct code for the points taken into consideration for product line pricing from
the following :

(i) Demand relationships of different products
(ii) Competitive situation in the product market
(iii) Advertising endeavours for different products
(iv) Cost estimates for various products

Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
91394373421,

Only (ii), (iii) and (iv)
91394373422,

Only (i), (ii) and (iv)
Q12943732423

Only (ii) and (iii)
91394373424,

Question Number : 56 Question Id : 91394318688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frferfiaa 9 & seare e e 2 +-8 famgadt =t e & wan s 2 36 foe vt e 1 =
Hifor
(i) fafirs geardi % win gy
(i) Iearg = # wfereaef feufeat

(iii) Farfirm Fearel = fom fagmam wama
(iv) fafira Feargi & forg @mma srgwm
Hr= feu o e # | et I w9
% :
Options:
Fae (1), (i) 3 (iii)
91394373421
Fa (ii), (i) 3 (iv)
91394373422

Fae (1), (i) 3 (iv)
Q1394273423



e (ii) 3 (iid)
91394373424,

Question Number : 57 Question Id : 91394318689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In case there is a rise in general price level alongwith a declining output in the economy, it
is called

Options:

51394373425, Inflation
91394373406, PP push inflation
51394373427 Deflation
913942732423, Stagflation

Question Number : 57 Question Id : 91394318689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afe srefeqaeen # i geareq & wry-my amra qeg w d afyg &t 2, o 5@ e s 2

Options:

91324373425, ﬁﬁ'ﬁ’:ﬁ’lﬁr
91394373426, :m-{ﬁ e Wﬁ
91334373427, Ml
91394373428, ThRY SreTe

Question Number : 58 Question Id : 91394318690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is not a broader classification of motivation ?
Options:
Positive motivation

91334573429,

Monetary motivation
91324373430,



Negative motivation
91394373431,

Unitary motivation
91334373432,

Question Number : 58 Question Id : 91394318690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr=fefiga & & -a1 stfirron =1 =g ffaor a8 2 7

Options:

91324373429, T S
91334373430, Ff3h ST
91334373431, TS AR
91394373432, S o

Question Number : 59 Question Id : 91394318691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is also known as ‘Cross Contact’ communication ?

Options:

91394373433, |Dter-scalar communication

913943273434 Intra-scalar communication
Extra-organization communication

91234273435,

413942732426, Concealed communication

Question Number : 59 Question Id : 91394318691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiga o & fordt wft wus’ woior = =9 & s ST 2 2

Options:

FH=ai-afese qimo
91394373433,



FHU-#Afese Guo
91394373434,

91394373435, all

i
91394373436, o

Question Number : 60 Question Id : 91394318692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List II and choose the correct answer from the
code given below :

List I List I1

(Type of Personality) (Suitability to Job)
(a) Sensation-thinking personality (i) Fit for human resource development job
(b) Intuition-thinking personality (ii) Fit for production and management position
(c) Sensation-feeling personality  (iii) Fit for research and development position
(d) Intuition-feeling personality (iv) Fit for science and technology field

Code :
Options:

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394373437,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
912342734328,

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
91394373439

(a)—(ii), (h)—(iii), (e)—(i), (d)—(iv)
912394373440.

Question Number : 60 Question Id : 91394318692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t wgl 1 gt 11t wgl & fram Aiforg sit = feg e e 9 & ot 3w =t 9f

gt 1 gt 11
(=afvrea =1 T&R) (= & wfd Jugeran)

(a) HaEl-T= aren safhed (i) wHa g faswa wrd 3g 39w
(b) qatwTEt-|re aten safthed (i) Ie9EA U YEUHA 98 7Y I9Y®
(c) GAGI-HTa aTe =afthed (idi) IHEUH w6 fawrg 9g ¥ 399w
(d) qaturefi-vran aren safvhea (iv) fomm @ deifieh g9 &g s

% :

Options:



(a)—ii), (b)—(iv), (e)-(iil), (d)~1)
91234373437,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394373438,

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
91334573439,

(a)—ii), (b)—(iii), (e)—(i), (d)—liv)
91334273440,

Question Number : 61 Question Id : 91394318693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correct code for the following statements being correct or incorrect.
Assertion (A) : Attitude develops over a period of time.

HReason (R):  Attitudes are specific whereas values form a broader and more encompassing
concept.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q15943732447

Statement II is correct, but I is incorrect.
Q1594373442

91394375443 Doth the statements I and IT are correct.

91594373444 Doth the statements I and IT are incorrect.

Question Number : 61 Question Id : 91394318693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa Suai % wdt @1 T €9 % e § wdl g2 w1 =99 fifaw |
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Options:
91394373441, F 18 R, woeg 17 § |
#9118 3, 9eg 176 B |

9133457344z,



Foe 1 3 11 I
91394373443, 3w

FYe 1 3 11 1 Ted & |
91394373444, i g

Question Number : 62 Question Id : 91394318694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : 1y, ghe 915 century we are going to need a new generation of leaders; not
managers.

Heason (R):  Leadership is about developing a vision of the future rather than just
aligning people by communicating this vision and inspiring them to
overcome hurdles.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91594373445,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373446,

(A) is correct, but (R) is incorrect.
Q1394373447

Both (A) and (R) are incorrect.
Q1294273448

Question Number : 62 Question Id : 91394318694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
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sifirpe (A) - 21 waredt & & 3 A & e fr smavamar 8; dwwent it 1 |
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Hhe:
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394375445, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394373448,



(A) @ &, Tq (R) TTd 2 |
91394373447,

(A) 3 (R TeTd
91394373448, ) ) ¢

Question Number : 63 Question Id : 91394318695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Gang plank’ breaks which one of the following ?

Options:

41394373449 Cross communication
913294273450 Mass communication
91394373451,  crucal communication
91394373450 ocalar chain

Question Number : 63 Question Id : 91394318695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i ot fefefiaa 4 @ frae fasde T 2 7
Options:
91394373449, s =
91394373450, T °
_ _
91394373451, ‘
Ffgse Een
91394373452,

Question Number : 64 Question Id : 91394318696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following iz a correct statement ?
Options:

Kaizen, in other words, is Total Quality Management (TQM).
91394373453,



TQM is best explained with the help of Deming triangle.
91394373454,

Michael Hammer and James Champy have given the concept of TQM.
91394373455,

Production management is one of the variables of TQM equation.
215394273456,

Question Number : 64 Question Id : 91394318696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefias 4 @ sm Fm adt 2 2
Options:

HEH 4 o (F L.
91394373453, 3, 3 et A, weher TUreren vad (A w) #
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91394373454
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91394373455,

IeATe wagA &R, Tt 6 uE R |
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Question Number : 65 Question Id : 91394318697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below :

List I List IT
(Role of Manager) (Functions of Manager)
(a) Informational role (i) Figure head, leader, liaison
(b) Interpersonal role  (ii) Disturbance handler, resource allocator, negotiator

(c) Decisional role (iii) Disseminator, monitor, spokesperson

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iii)
91234273457,

(a)—iii), (b)), (e)—(ii)
91594273458,

(a)—(i), (b)—(iii), (e)—(ii)
91334273459,

(a)—iii), (b)—(ii), (e)—(i)
91234273480,



Question Number : 65 Question Id : 91394318697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

gt et I
(wreteren &t syferenT) (wretsres & WeRTd )
(a) gEATeae Yftre (i) WA WM, 4T, 99 =Afh
(b) FFadafers i (ii) i Srershal, GEYA AMacARal, digarstnal
(e) Faofa &3 6t siftrm (iii) WET, Tiftet, Sed
% :
Options:
(a)~(id), (b)—(1), (e)—(iii)
91394373457,
(a)—(iii), (b)~(i), (e)~(ii)
91394373458,
(a)—(1), (b)—(iii), (e)—(ii)
91394373459
(a)—(iii), (b)—(ii), (e)(i)
91394373460.

Question Number : 66 Question Id : 91394318698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following steps of succession planning in the correct
sequence :

(i) Define competencies required to perform roles.

(ii) With future orientation, assess people against criteria.
(iii) Identify key roles for succession or replacement planning.
(iv) Develop employees to be ready for future key roles.

(v) Identify pool of talent that can potentially perform highly in key roles.

Choose the correct answer from the code given below :

Code :
Options:
(id), (iii), (i), (iv), (v)
21394273461,
(v), (iD), (1), (i), (iv)
V1394373462,

(1), (1), (i), (1v), (v)
91234273463,



(1), (1), (i), (v), (1v)
91234273464,

Question Number : 66 Question Id : 91394318698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FerrfersR st o Frafafiaa s it o s & sqafem fiftw

(i) yftrer frefga & feru aifesa wammen =i ofonfia %o )

(i) wferen Fdem & g wrAgUe stgET sAfwE # et ST |

(iii) Iererferspm vy faeumas srran o feoe g yftsmadt i gg=m Fem |

(iv) SH=TieEt i wret geeal v & fog dam s |

(v) wfawt % 38 g N TEE HE A GG T H I gy e fm wed § )

Hre feu o g2 # © @t I w g
% :

Options:

(ii), (iid), (1), (iv), (v)
91324273461,

(w), (ii), (1), (iii), (iv)
91334573462,

(1i), (1), (iii), (iv), (v)
91234273463,

(ia1), (i), (11), (w), (iv)
B1334573464,

Question Number : 67 Question Id : 91394318699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements is/are true ?
(i) The concept of wage boards was first enunciated by the Minimum Wage Committee.
(i) A wage board is bipartite in character.

(iii) Representatives of employers and workers on wage board are appointed by the
government after consulting the concerned organisations.

Choose the correct answer from the code given below :

Code :
Options:
Only (i)
21394273465,
Only (iii)

215942734686,



Both (i) and (ii)
91334573467,

(1), (i) and (iii)
21334573468,

Question Number : 67 Question Id : 91394318699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prferfiaa 3 & S-avd Fua ad 28 2
(i) =9 stet it sEamon geavyw =gEan 0= atafa grn sfoafen $og ot )
(i) &7 =@re fguafta wafa w1 2 |

(iii) = @S o Fatewrent sft smmdl & fafifiet 6 Fafe e gro gefia @ret & oot 6 %
Mg i At 2 |

% :

Options:

e (ii)
Q1394273465

e (iii)
Q1394373466

B1334573467. (B 3 i) ¥

(1), (ii) M (iid)
91394373468,

Question Number : 68 Question Id : 91394318700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following steps of disciplinary procedure in the correct sequence :
(i)  Issue a charge sheet
(ii) Notice of enquiry
(iii) Suspension pending enquiry
(iv) Conduct of enquiry
(v) Awarding punishment
(vi) Communicating punishment
(vii) Preliminary investigation
(vii) Recording of findings

Choose the correct answer from the code given below :

Code :

Options:



(1), (i), (1), (iv), (w), (wi), (vii), (viii)
91334573469,

(vii), (1), (ii1), (11), (iv), (viii), (v), (vi)
91334573470,

(1n), Cwid), (i), (1ii), (wiii), (iv), (vi), (v)
912334573471,

(1), (wii), (i), (iii), (iw), (vi), (v), (viii)
91334373472,

Question Number : 68 Question Id : 91394318700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT iiarg & Frefafias =on & ad wn | sgaferm i
(i) T 9 S

(i) e < g=A

(iii) i wifera & a Fefam

(iv) A= T

(v) TUg T

(vi) TUE W T

(vii) wrfirs s

(vii) Freat o1 srfireraa

3 R o g A A 9@ I R 9P
&

Options:

(i), (i), (i), (iv), (w), (wi), (viid), (viii)
21234573469,

(wvii), (1), (iii), (ii), (iw), (viii), (v), (vi)
91334373470,

(11}, (wii), (1), (1i1), (wiil), (iv), (vi), (v)
91334573471,

(1), (wii), (i), (i), (iv), (vi), (v), (viii)
91234273472,

Question Number : 69 Question Id : 91394318701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who pays the lay-off compensation to a workman ?
Options:

Employer
91394373473,



Employees State Insurance Corporation

91394373474
91394373475, State Government
91394373476, Central Government

Question Number : 69 Question Id : 91394318701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FIHTR St FIa-Q H1 GHATEA F T 2 2
Options:
91394373473 T
91394373474, Bt TR o
91394373475, 0 oo
N
91394373476, 3

Question Number : 70 Question Id : 91394318702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A Union security agreement aims at

Options:
getting more benefits from an organisation.
91394373477,
recognition of union by employer.
91334373478, & ¥ empoy
determining the extent to which the agreement protects the union in holding its
membership and collecting its dues.
91334373479,
making jobs secure for members of the union.
91324573480,

Question Number : 70 Question Id : 91394318702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fepeft @ geam R 1 weg g &

Options:



215334273477, EAL A !

Frtenr gro &9 <Rt wr=ar |
9139437347 8.

3a "o o1 Frafor s g 9w T 99 <t sh gesa s e o @i asEn gee

e I THEAG HE H HE FGH FTE |
91394373479,

He % HeEd  for Tomr gaféra e # |

91334573480,

Question Number : 71 Question Id : 91394318703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per the provisions of the Factories Act, 1948, match the items of List I with the items of
List IT and choose the correct answer from the code given below.

ListI List I1
(a) Cool drinking water during hot season (i) 150 workers
(b) Employment of safety officer (ii) More than 250 workers
(¢) First aid box (iii) More than 500 workers
(d) Ambulance room (iv) 1000 or more workers

Code :
Options:

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234273481,

(a)—(i), (b)—{iv), (e)—(iii), (d)—(ii)
B1334573482.

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334373483,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912342734584,

Question Number : 71 Question Id : 91394318703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Saelt sifufrm, 1948 % syayt % sgaw, g=ht 16 wgl &1 gt 11 A wel & fram Fifsw it = e
TCHe | & THl I H G |
gt gt I
(a) 7t % dtem % S gver TEE () 150 HETH
(b) e sfesprdt #1 Frarem (i) 250 @ wfis Fmm

CRALALL AR (iii) 500 & ik FHIR
() P = (iv) 1000 379a 3t FETR
e

Options:

91394373451 AU (W), ()-(1), (d)—ii)

(a)—{i), (b)—(iv), (e)—{iii), (d)—(ii)
913945373452,

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394373483,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394373454,

Question Number : 72 Question Id : 91394318704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Indicate the correct combination of the financial decisions from the following :
(i) Investment decizions
(ii) Financing decisions
(iii) Pricing decisions
(iv) Liguidity management decisions

(v) Dividend decisions

Choose the correct answer from the code given below :

Code :
Options:

Only (i), (ii), (i) and (iv)
91394373485,

Only (ii), (iii), (iv) and (v)
Q139437 2486,

Only (i), (ii), (iv) and (v)
Q1394237 32487.

Only (i), (ii) and (iii)
Q15942372458



Question Number : 72 Question Id : 91394318704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafiga # @ facfta Fofat & wd o3t =i 3 fifsg
(i) Fram faviz

(i) fererdreor Fofa

(iii) ea-Frafoor fof

(iv) e yaee fofa

(v) wrare fofg

fr= fow o e A & wdlt I+ g
He:

Options:

Fad (1), (i), (iii) 3 (iv)
91394373485,

e (i), (idi), (iv) 3 (v)
91394373456,

FA (1), (iD), (iv) T (v)
91394373457,

Fae (1), (i) 3 (i)
Q1394273488

Question Number : 73 Question Id : 91394318705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The optimum capital structure is supported by which combination of the following ?
(i) Traditional theory

(ii) Net income theory

(iii) Pecking order theory

(iv) Net operating income theory

Choose the correct answer from the code given below :

Code :
Options:
Only (i), (ii) and (iii)
215943723459,
Only (i), (ii) and (iv)
912394372490,

Only (ii), (iii) and (iv)
Q15942372491



Only (i), (iii) and (iv)
Q159437324592

Question Number : 73 Question Id : 91394318705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
geean it aten Frafafaa & & fora gatem gro awfda 2 2
(i) T frgrea
(i) Fraet ama fogra
(i) feT e fargra
(iv) e afrem ama figia

3 R e g A A @ I R 9P
Hhe:

Options:

FaA (1), (i) 21 (iii)
913943734589,

Fae (1), (i) 3 (iv)
91394373490,

FaE (i), (i) 3T (iv)
91394373491,

Fae (1), (iii) 3 (iv)
91394373492,

Question Number : 74 Question Id : 91394318706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is nof resorted to while issuing new securities in the market ?

Options:

91394373493, Ofer for sale

Stock option
B913345734594.

Placement on stock exchanges
913943734395,

Book building
91394373496,

Question Number : 74 Question Id : 91394318706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



arar § 75 wfeyfeat it sl s g Frafafas & @ feaw o 78 s g 2
Options:

H91334573453.

913345734394,

IR ATAT § HIEITH
91394373495,

3 fafeen
91394372496,

Question Number : 75 Question Id : 91394318707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Indicate the code for proper sequencing for the process of venture capital financing from the
following :

(i) Deal origination
(ii) Due diligence
(iii) Screening

(iv) Deal structuring
(v) Exit plan

Choose the correct answer from the code given below :

Code :
Options:

(1), (iw), (ii), (i), (w)
913345734597,

(1), (D), (iii), (iv), (v)
91334573438,

(1), (111, (ii), (1v), (v)
913345734545,

(1), (i), (iv), (i), (v)
2912334573500,

Question Number : 75 Question Id : 91394318707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fem Joft farerataer <t wfshan % ot sm o foe Frafeafian &g o % 3fim Hifom .
(i) Hte i Ieafa
(i) 3fea adtepor
(iii) = (SR
(iv) HYg =1 7T
(v) Frepma gt

3 R e g A A @ I R 9P
Hhe:

Options:

(1), (iw), (ii), (i), (v)
913345734597,

(1), (D), (iii), (iv), (v)
91334573438,

(1), (11D, (ii), (iv), (v)
91334573499,

(1), (i), (iv), (iii), (v)
91334573500,

Question Number : 76 Question Id : 91394318708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : As per M-M hypothesis the value of the levered firm is equal to the value of
the unlevered firm.

Heason (R):  The process of arbitrage becomes applicable in such situations.

Code:
Options:
Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373501,
Both (A) and (R) are correct, but (R) is not the right explanation of (A).
21394273502,
(A) is correct, but (R) is incorrect.
91594373503,
Both (A) and (R) are incorrect.
91394373504,

Question Number : 76 Question Id : 91394318708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fr= 31wy feu e 8, ford @ us e (A) @ 3 gEo 7% (R) B | Sl =i fen st = fag mo
Fe I TEM FHE I g |
afirmerT (A) . M-M ufishes 1 & 38R Ietferd wo 1 4o, Agaifoa B5 & 59 % 99 giaT & |

T (R) : 58 wer <6t afifeufaat 4 snfagw i wfsrn @ & st 2 |
% :
Options:
91394373501 (A) 3 (R) ST F@l & 791 (R), (A) 1 T = R |
() 3ftt (R) 31 = &, W (R), (A) 1 &t wareen 8 2 |
91394373502,
A ) R)T&d & |
o1594373503 M T & T (R T R
91394373504, (&) 3R (R) 2 o7 % |

Question Number : 77 Question Id : 91394318709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the correct code for the following statements being correct or incorrect.
Statement I : Companies generally do not prefer low cost debt financing.

Statement Il : Raising debts requires credit rating and payment of interest even if
companies suffer losses.

Code :

Options:

Statement I is correct, but II is incorrect.
Q1294373505

Statement II is correct, but I is incorrect.
Q1294373506
91394373507 Doth the statements I and II are correct.
91394373505, Doth the statements I and IT are incorrect.

Question Number : 77 Question Id : 91394318709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafaa Suai % wdt @1 7o 29 % ded § wd g2 w1 =9 fifaw |
Fogg] -  HAET A 9 @G atel T faedieor st urerfiemar @ 29t )

FuT Il TS A shfee P i amavawar drdt @ qun FulEt w o % ameg = w1 yae
AT TS |

He:
Options:

w1 8 &, 90q 11 7Teid & |
91394373505,

FUA 11 T8 7, 9g [ 7Teid & |
913943735086,

e 1 3 11 g &t 2 |

215334273507,

FyA 1 3 11 TeAd & |
91394373508 A g

Question Number : 78 Question Id : 91394318710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Firms normally finance the working capital needs as per which combination of the
following ?

(i) Trade credit

(i) Bank finance

(iii) Commercial papers
(iv) Factoring

Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iii)
Q12942372509

Only (ii), (iii) and (iv)
Q12943732510

Only (i), (ii) and (iv)
Q1394273511

Only (i), (iii) and (iv)
Q1594272512

Question Number : 78 Question Id : 91394318710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fafat wrfsfte $oft 6 smavasarst & fawado &g gmrra: Fefafas § @ feas sgom w6 st
87

(i) =ETIR

(ii) ‘o fererareor

(iii) arforferes o=

(iv) el
fr=r feu o g2 # @ wdt I H g
Hhe:

Options:

Fae (1), (i) 31 (iid)
91394373509,

Fad (iD), (i) 3T (iv)
Q1=294=27=510.

Fae (1), (i) 3 (iv)
91394373511,

Fae (1), (iii) 3 (iv)
91394373512

Question Number : 79 Question Id : 91394318711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The following two statements relate to marketing. Choose the correct code for the statements
being correct or incorrect.

Statement I :  Marketing is about satisfying customer needs and wants.
Statement Il : Marketing can be performed only by individuals and not by organizations.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1294373512

Statement II is correct, but I is incorrect.
Q12942732514

91394373515, Both the statements I and II are correct.

9139437351, Doth the statements I and IT are incorrect.

Question Number : 79 Question Id : 91394318711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= g & wafia gt e fae T § | At % wdt @ e B9 % e | wdt e o wma fife
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®e:
Options:

w1 98 8, 9oq 11 7ot 2 |
91394373513,

w1 11 0dt 8, wtg 1 7Teid & |
91394373514,

FYA 1 3 11 I
91394373515, 3 8

FYA 1 3 11 Teld & |
91394373516, A g

Question Number : 80 Question Id : 91394318712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The marketing costs of reaching loyal consumers are much lower because the
firm does not have to spend money on advertising and promotion campaigns
to attract these customers.

Reason (R): A high level of brand loyalty does not insulate the firm from competition.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
215394273517,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373518,

(A) is correct, but (R) is incorrect.
91394373519,

Both (A) and (R) are incorrect.
Q1394273520

Question Number : 80 Question Id : 91394318712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394373518,
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Question Number : 81 Question Id : 91394318713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT

(Market segmentation method) (Sample segment)

(a) Demographic (i) Self-values
(b) Psychographic (ii) Convenience
(¢) Benefits (iii) Gender
(d) Behavioural (iv) Loyalty
Code :
Options:
(a)—(iii), (b)), (e)—(ii), (d)—(iv)
91394=373521.
(a)—iil), (b)~(iv), (e)—(id), (d)~1)
91394373522,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394373523,
(a)—(iii), (b)(ii), (e)~(i), (d)—liv)
21394273524,

Question Number : 81 Question Id : 91394318713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

g1 | II
(= FErafereor ugfd) (uftres @ve)

(a) SRR (i) e
(b) wTgftrh (i) gl
(c) & (iii) fem
(d) Tavra et (iv) Fsar

Options:

(a)—(iii), (b)—~(1), (e)—(ii), (d)~(iv)
91334373521,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91534373522,

(a)-ii), (b)—(iv), (e)-(iil), (d)—~(1)
91594373523,

(a)—iii), (b)~(iD), (e)—(i), (d)iv)
91324273524,

Question Number : 82 Question Id : 91394318714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following relates to products or services for which consumers will spend a
fair amount of time comparing alternatives ?

Options:

Unsought products/services
91394373525,

Convenience products/services
215394273526,

Shopping products/services
Q1=294=273527. PPIGE P

Speciality products/services
A1394373528, P

Question Number : 82 Question Id : 91394318714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freafefiaa & & fraes daiw 37 Seargl avyan Sansdi @ &, frres fore wmess faeredt &t o et 3 s
T T @ ?

Options:



sraifesa Iearg/gard

91334573525,

91334573526, gﬁm
91334373527, i Jeare e
B1334573528. fafie S/

Question Number : 83 Question Id : 91394318715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The following statements relate to social media.

Choose the correct code for the statements being correct or incorrect.
Statement I :  Social media does not allow users to interact among themselves.

Statement II : Social media helps facilitate the consumer’s decision process by encouraging
need recognition, information search, alternative evaluation, purchase

and post purchase reviews.
Code :

Options:

Statement I is correct, but II is incorrect.
91924373529

Statement II is correct, but I is incorrect.
91394=72520.
9139437355, Doth the statements I and II are correct.
9139437355, Doth the statements I and IT are incorrect.

Question Number : 83 Question Id : 91394318715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Freafefign semt &1 dag give difema 2

Ul % T A1 TR B o qed d g g o ww Fifer |

g7 are Hife, W S eh-gi § aradrd w0 agata T8 g |

wyg [ :  HivE Hifem, sravasa R vgEE, g f @, 6 g, @i vd el

geften it wgran <, Pl o= 3 T 6 wETE AT R |
% :

Options:



w1 8 &, 90q 11 7Teid & |
91394373529,

FU 11 T8 8, 90g [ Terd & |
91394373530.

FyA 1 3 11 |
91394373531 3w 8

Fye [ 3 11 91 Teid & |
91394373532 3 g

Question Number : 84 Question Id : 91394318716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Explain the nutritional values of different foods” is an objective of which one of the
following social marketing programmes ?

Options:

Value campaigns
Q1394373533 paig

Action campaigns
91394273534, paig

Behavioral campaigns
Q1=294=27 =525 paig

Cognitive campaigns
91394373538, o8 paig

Question Number : 84 Question Id : 91394318716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“fafir @ vergl & Jrau Gt gg &t "amn FeEfefiaa # fea amfas faom s - 7w
27
Options:

AhEE
91394373533, =

91334573534,

sqgen gadt sAfEm
91394373535,

AT AR
91394373536,



Question Number : 85 Question Id : 91394318717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A manufacturer, to market its products, focuses on the following marketing channel
alternatives :

(i) Telemarketing

(ii) Distributors

(iii) Sales force

(iv) Internet

(v) Retail stores

(vi) Value-added partners

Select the code of correct sequence of the channel alternatives in order of increasing cost per
transaction.

Code:
Options:
(v}, (v, (1), (wi), (ii), (iid)
91394373537
(iw), (1), (w), (i), (wi), (1i1)
91294373538,
(1), (iw), (i), (w), (iii), (vi)
912943735329
(1), (iw), (w), (i), (iii), (wi)
91Z943273540.

Question Number : 85 Question Id : 91394318717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafmiar s 3eargl it arem § 3ar % for Prafafiga famom wraw fasedt o e S5 wa g
(i) et

(i) foawen

(iti) fosht 7

(iv) FeTH

(v) U HEr

(vi) qea-aftfa wrfigr

gfer |te it st @rTa o e d T fawed % adt 9 80 Fe 1 T
Hifa
He:

Options:

(1v), (v, (1), (vi), (1), (ii1)
91334573537,



(iw), (1), (w), (11}, (w1), (1i1)
91334573538,

(1), (iw), (11), (w), (111}, (vi)
91334573539,

(1), (iw), (w), (i), (iii), (wi)
91334573540,

Question Number : 86 Question Id : 91394318718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct
answer from the code given below.

List I List IT
(a) ¥ chart (1) Number of defects
(b) P chart (ii) Variations between samples
(e} C chart (iii) Variations within samples
(d) R chart (iv) Proportion of defectives
Code:
Options:
(a)iv), (b)—(ii), (e)—(iii), (d)—(1)
91394373541,
(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
2153942373542
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394273545,
(a)—(ii), (b)—(iv), (e)—~(iil), (d)—(1)
91394373544,

Question Number : 86 Question Id : 91394318718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gl 11 |2l 1 =i I1 1 wgi 9 fuerm $ifse si 4= fo mw $e 8 4 58 30 &
g |

gt I gt 11

(a) X 9 (1) fesdi i semn

(b) P=w (i) wfdesn & e 37
(c) Car (iii) wfager = diae s
(d) R=m (iv)  Ffesdi @1 3uT
Fe

Options:



(a)—(iv), (b)—(ii), (e)—(ii), (d)—(1)
91334573541,

(a)—iv), (b)), (e)—i), (d)—{1ii)
91334573542,

(a)ii), (b)-iv), (e)-1), (d)1ii)
91334573543,

(a)—ii), (b)—(iv), (e)—(iii), (dI—(1)
91294373544,

Question Number : 87 Question Id : 91394318719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following concepts is nof related to product design ?
Options:

Reverse engineerin
Q1294373545 g &

9139437354¢, - tandardisation

Concurrent engineerin
Q1394373547 g &

Enterprize resource planning
91394373548,

Question Number : 87 Question Id : 91394318719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafaa # & == @t staumon 3w fears & gafua 787 @ 2

Options:

wfoer (frad) $oftfrafon
91394373545,

91334573546,

auad] (FAwie) Sttt
91394373547

91334573548, s

Question Number : 88 Question Id : 91394318720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the operations in production planning and control in correct sequence :
(i) Routing

(ii) Dispatching

(iii) Follow up

(iv) Scheduling

Choose the correct answer from the code given below :

Code :
Options:
(i), (iv), (iii), (i)
291394273549,
(1), (iw), (ii), (iii)
91594373550,
(1w}, (1), (i1}, (i1)
91394373551,
(1), (iw), (ii), (1ii)
91394373552,

Question Number : 88 Question Id : 91394318720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FeqTEA AT S Frasor ® yeret it w8 e | srafed fifau

(i) =rf ===
(i) eor
(iii) e
(iv) HEE=
Hre feu o g2 # © @t I w g
% :
Options:
(i), (iv), (iii), (i)
91394373549,
(1), (iv), (ii), (iii)
91394373550,
(iv), (1), (iid), (ii)
91394373551,
(i), (iv), (ii), (iii)
91394373552,

Question Number : 89 Question Id : 91394318721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following statements relate to project network. Choose the correct code for the
statements being correct or incorrect.

Statement I : An activity cannot be represented by more than one arrow, but an arrow can
represent one or more activities.

Statement II : The activities in a critical path can be preponed or postponed.

Code :
Options:

91394375553 Doth the statements I and IT are correct.

41394373554, Both the statements I and II are incorrect.

Statement II is correct, but I is incorrect.
Q91394272585

Statement I is correct, but 11 is incorrect.
Q1594373556

Question Number : 89 Question Id : 91394318721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
#r= fou My = afediem Yeas & gafua § | SeE % 98 @ e &9 % wed | adt g2 w1 5
Hifsr |
wug . s iafafy wh & srftre o @ 5 quit s awdt wig v oRoww @ st nfafafie w6t
g9t wehat B |
o7 1] ;  Teret wgeagel wy & wiafafie +t ofda @ wfia e s awar @ 1

He:
Options:

Foe [ 3 11 I
91394373553, 3w 8

FYe 1 3 11 1 e & |
91394373554, 3 g

FIA T8 8, Tg [ 7Ted & |
91394373555,

w1 98 8, 9oq 11 7ot 2 |
91394373556,

Question Number : 90 Question Id : 91394318722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List I1
(a) Cyecle stock (i) Hedge against the possibility of stockout
(b) Transit stock (ii) Stock to meet inventory cycle
(c) Buffer stock (iii) Stock moved between various elements of supply chain
(d) Safety stock (iv) Extra stock to meet fluctuations in demand
Code:

Options:

(a)—(ii), (h)—(iii), (e)—(i), (d)—iv)
91394373557,

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91394373558,

(a)—(iii), (b)(ii), (e)-(1), (d)-iv)
91594373559,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
91394373560.

Question Number : 90 Question Id : 91394318722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o1 gt 11t wgl & faram Aifsr oit A= feg o e 9 @ ot 3w =6t 9fi
I = 1T

(a) OT3fRa (S6hM) Wi () =i @rdt g9 6 gareaa * faeg 3

(b) urome (gifee) =i (i) wimgs =% #t 90 wE & o wiw

(c) B &I (i) sy *pen & fafirs awai & o= SamEE wis
(d) Hiam =ik (iv) " § foem it qu 0 % foe afofes w=ie
e
Options:

(a)—(ii), (b)—(iii), (e)-(i), (d)iv)
91394373557,

(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
91394373558,

(a)(iii), (b)(ii), (e)-(i), (d)—iv)
91234273559,

(a)—iv), (b)—(iii), (e)(i), (d)—(ii)
913394373560.

Question Number : 91 Question Id : 91394318723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Mean forecast error (i) Mean of absolute deviations of forecast demands from
actual demand values

(b) Mean absolute deviation (ii) Mean of the squares of the deviations of forecast
demands from actual demand values

(¢) Mean square error (iii) Mean of the deviations of the forecast demands
from actual demand

(d) Mean absolute percent error (iv) Mean of the percent deviations of the forecast
demands from the actual demand

Code:
Options:

(a)iii), (b)—(1), (e)(id), (d)iv)
91394373561,

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
91394373562

(a)—(ii), (b)), (e)(i), (d)-iv)
912394273563,

(a)—(iv), (b)), (e)(ii), (d){iii)
91394373564,

Question Number : 91 Question Id : 91394318723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama Aifsrg ait = feg e e 9 & ot 3w =6t 9fiw
I e

(a) e @A Afe () areafass win et & qatgEe win % of faweaw & e

(b) wren i frmer (i) SfeeR win et & qatqum wini % fawedt % ant & e

(c) wreg af 3fe (iii) arefees win & qatqam =i % fogeat & e

(d) wen pof wferwma 3fe (iv) aeafess win & qatqam win % sfowe foasem & me

R
Options:

(a)(iii), (b)—(i), (e)(ii), (d)iv)
91394373561,

(a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
91394373562,

(a)—(ii), (b)—iii), (e)~(i), (d)-liv)
91394373563,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394373564,



Question Number : 92 Question Id : 91394318724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following statements relate to decision tree analysis. Choose the correct code for the
statements being correct or incorrect.

Statement I : A decision tree contains the probabilities of outcomes and the conditional
monetary values attached to those outcomes.

Statement II : In a decision tree, ‘nodes’ at the left represent actions that oceur before nodes
that fall farther to the right.

Code :
Options:

9129427356, Both the statements I and II are correct.

9159437356, Doth the statements I and IT are incorrect.

Statement II is correct, but I is incorrect.
Q1394=375567.

Statement I is correct, but 11 is incorrect.
915394272568,

Question Number : 92 Question Id : 91394318724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafaa sum Fofr ga favemo & graffaa § 1| a1 & adt o1 o0 89 % g 4 wdt 5 +1 =99
$ifor |
Fy7 ] T Fvia ga & wftomt 6 gyregard qun 39 gl & wag wad w@ifgs geg whe a8

U 11 : w Frota gg & anft oin fom Sieg’ o wrtarsat =t qfa & <t @ oeff oo fora Sge’ @
o wfeq & §

He:
Options:

Foe [ 3 11 I
91394373565, 3w 8

FYe 1 3 11 1 e & |
91394373566, 3 g

FIA T8 8, Tg [ 7Ted & |
91394373567.

w1 98 8, 9oq 11 7ot 2 |
91394373568.

Question Number : 93 Question Id : 91394318725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

There are ‘m’ number of favourable cases to event A and m" are
non-favourable cases, both are equally likely and mutually exclusive, the

probability of occurring the event A is P(A) = = This formula

m+n

corresponds to which one of the following approaches to probability ?

Options:

91394373569 Classical approach to probability
91394373570, tatistical approach to probability
91394373571 Subjective approach to probability
91394373572, Modern approach to probability

Question Number : 93 Question Id : 91394318725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gl A @ folu ‘m’ | U sghd "e 2 SR n’ Je 4 gided 9ol 2, gFl
gHH w9 H guifad a9 WER A9 B 2 | g9e AT "9fed BH Il "@yrEE
P(A) = — = 3 | 2 g2 Wifran & Freafafiga § @ fa srasmon % wgw 2 2

m+n
Options:
91394373569, st 1 ffafess il
91394373570, ST 1 WG SFeren
91394373571, ST 1 SRS e
arfireRer it I
91394373572, g

Question Number : 94 Question Id : 91394318726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following MIS systems is designed to capture, collect or enter the data to
process in a certain specified manner for further processing ?

Options:

Business function processing system
91394373573,



Transaction processing system

91394373574

Data processin stem
91394373575, P B

Integrated information processing system
215394273576,

Question Number : 94 Question Id : 91394318726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frt e g et Frfee fafafdse ofter @ srierel & arfimrem, dwew offt wfafee &g Frafefias &
# -t waaa geT seft (UH, e uE. ) dAR g R 2

Options:

91334573573,

-CF STEEHTIT T
91394373574,

91334573575, &

gefdhd a1 WETRT Jumret
91394373576,

Question Number : 95 Question Id : 91394318727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is considered as a threat to database and
DBEMS ?

Options:

91394373577, Trewalls

91394373578, Insertion of viruses

9139437357 Unauthorised access

of system failures
Q1394373580 Log of sy

Question Number : 95 Question Id : 91394318727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fefiga o @ gt Somm o St mwm. % e @ao goen s 2 2



Options:

91334573577,

91334573578,

12334573579,

291334573580,

Question Number : 96 Question Id : 91394318728 Question Type: MCQ Option Shuffling: Yes Display Question Number :

dETH AT

e g

foreen e w1 fieE

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statements relating to Tests of Hypothesis are correct ? Select the

correct code.
Statement 1 :

Statement IT :

Statement IIT :

Statement VI :

Statement V:

Code :

Options:

912334573581,

91334573582,

H133457 3583,

91334573584,

Type-I error occurs when true null hypothesis gets rejected by the test.
Beta value denotes the power of the test.

To test the significance of the goodness of fit of a distribution, F-test is
applied.

When H, : py; > pp, two-tailed test is applied for testing the hypothesis.

The critical value of Z-statistic for two-tailed test at 5% level of significance

iz 1-96.

Tand V

II and IIT

IIT and IV

IVand V

Yes

Question Number : 96 Question Id : 91394318728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e % wite & gay d Frfefiaa & & S8 w09 wd @ 2 98 ¢+ =597 Fifag |
Fugl: o9 SliEr g ae I et i R At @ 9t erge-1 o gfe w2
wug [ e e witen fit it a6t guia ®

w1l - T faawon i sagear % wew St + fou os-ade e smar 8
FYT VI : aaHﬂ:prFa,ahm%qﬂm%@ﬁ-gﬁnﬂmﬁmm%l
FYTV:  HEd ® 5% o W fE-yedhy witem &g Z-aifeadht & wifs ge9 196 7 |

He:
Options:

91334573581, 13V

B133457 3582, 11 3R 1

215394273585, L3k v

2153394273584, ALY

Question Number : 97 Question Id : 91394318729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The following statements relate to sampling distributions. Choose the correct code for the
statements being correct or incorrect.
Statement I : Sampling distribution of mean is normally distributed irrespective of the type
of population distribution and size of samples.

Statement II : The standard deviation of the sampling distribution of mean is less than the
standard deviation of the population distribution.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1294373585

Statement II is correct, but I is incorrect.
Q1294373506

91394373587 Both the statements I and II are correct.

913943735gg  Doth the statements I and IT are incorrect.

Question Number : 97 Question Id : 91394318729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafan sum wfresff 9e7 @ gafug 8 | 9=t % 9t @ 1aa 89 % e # 9ft 52 % =w= fife

Fug ] - waE faa % yen ot el % sren @ e aren o wfaesf s womer 92w
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He:
Options:

w1 8 &, 90q 11 7Teid & |
91394373535,

FUA 11 T8 7, 9g [ 7Teid & |
91394373536,

FYA 1 3 11 |
91394373587, 3w 8

FyA 1 3 11 Ted & |
91394373588, A g

Question Number : 98 Question Id : 91394318730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Suppose, it is calculated that ‘a’ is 4 and ‘b’ is 2 for a particular estimating line with one
independent variable. If the independent variable has a value of 5, what value should be
expected for the dependent variable ?

Options:

2912334573589,

91334573550, 1

91334573591, 14

2153394273592, 22

Question Number : 98 Question Id : 91394318730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A Sy Uek Taas = & @19 Uk fafie yeweel W@k fummafm g e e ag s v 28
afg waad = qod 5 2t Fsf = e = Em 2

Options:

215394273589,

913345735390, 1



91334573591, 14

B12334573592. 22

Question Number : 99 Question Id : 91394318731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The following two statements relate to probability distributions. Choose the correct code for

the statements being correct or incorrect.

Statement I :  When ‘p’ and ‘q’ are equal in the binomial distribution, the shape of the
distribution is perfectly symmetrical irrespective of the size of 'n’.

Statement Il : The mean and the variance of Poisson distribution are not equal.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1294373593

Statement II is correct, but I is incorrect.
9139423732594,

91394373595, Both the statements I and II are correct.

91394373596, Both the statements I and II are incorrect.

Question Number : 99 Question Id : 91394318731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hrer wvreaa faaqun & gafta gt wu= Gy mu § | wy=i & ot 91 1ea §1 % god J adt e w9

$ifor |
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Hhe:
Options:
F 1 Tt 8, 9t 11 7Terd & |
91394373593
9 11 58 &, 9q 1 Tefd 2 |
91394373594,
w1 3t 11 g wdt §

913345735595,



Fye [ 3 11 91 Teid & |
91394373596, 3 g

Question Number : 100 Question Id : 91394318732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following does not fall within the ambit of WTO operations ?

Options:

Trade in service, intellectual pro rotection, multifibre agreement.
Q1294373597 property p

Supplementing balance of trade deficit and helping a nation to overcome balance of

payment crisis.
91324573598,

Redressal and settlement of tariff disputes.
91394273599,

Antidumping measures, industrial and export subsidies of trading nations.
91394373600,

Question Number : 100 Question Id : 91394318732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freaferfiaa d & v fava sqman e (Seeg,@t.97t.) & Framshamdl & gt & 7@ atman 2
Options:

e # =9R, wWifgeh TPIer e, Hed IBget gHgitar |
91394373597, W, 5
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Teh faarel w1 fam qur fgerm |
91394373599,

91394373600, samar 7 @ 29 ¥ virrda-adt 3w, sftedifies v frata TeEem |

Question Number : 101 Question Id ;: 91394318733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List II
(a) Floating forex rate (i) Get the best out of extreme

decentralisation and centralisation
in finance decision and execution

(b) Translation effect of (ii) Influences time lag in receipt of cash
change in forex rate against foreign currency
denominated invoices
(¢) Transaction effect of (iii) Influences the valuation of financial
fluctuation in forex rate statements and reported items
(d) Geocentric solution in (iv) Triggers problems of appreciation or
financial planning and control depreciation of currencies
Code:
Options:
(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394373601,
(a)—iv), (b)—(ii), (e)-(iid), (d)—~D)
21394273602,
(a)—(iii), (b)), (e)—(ii), (d)—(iv)
915943736035,
(a)(i), (b)—(iv), (e)(ii), (d)iii)
91394373604,

Question Number : 101 Question 1d : 91394318733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t wgl o gt 11t wgl & frama Siforg oft = fgg e e & & &&t 3o =t 9fiw |

1 gt I
(a) weraq fogeft gz ¢ (i) = faehediaento qun S g
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(b) fest g A dfada s (i) fageh g5 qegert dtes & age s
Ffea woma wiftd # weaTat it wifad w2
(c) Taeaht qgr g1 & sam-wgra & (i) fasfta faamor qun wfoefea i =
-39 T Ao i TTfad G 2
(d) forefra smmaren wd P & (iv) e % sAfinea s qems A
Yeheg 14 THTHTH FoEaTd Ieas A B
L T4
Options:

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394373601,

(a)iv), (b)-(ii), (e)-(iii), (d)—(i)
91394373602,



(a)—{iii), (b)—(1), (e)—{ii), (d)—{iv)
91394373603,

(a)—{i), (b)—(iv), (e)—{ii), (d)—{iii)
913945373604.

Question Number : 102 Question 1d : 91394318734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The World Investment Report has prepared a transnationality index
comprising average of three ratios based on foreign assets, foreign
sales, foreign employment.

Reason (R): Given the increasing liberal investment and environment policy in which
such companies operate, transnationality would enhance strategy for
greater penetration.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
21394273605,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373606,

(A) is correct, but (R) is incorrect.
Q12943272007

Both (A) and (R) are incorrect.
Q139437 308,

Question Number : 102 Question Id ;: 91394318734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= 3t e fon e B, T & o arfirme (A) @ i g@n a6 (R) @ | Sl i afen sfi e few o
Fe & TE F T I g |
wfirperT (A) - Tava Faaw ford 3w wr-osdiaan guere dar feman 2, Foad fagsft snfer, fagaht
farsht, fergaft Tromm 3 smam @ o7 srgaTal & oftea e

7% (R) - I Bt o i P ud vt At @ e ge, & @ st ot 2, oo

@ arferss e vg Wi 6t wgran fiem |
He:
Options:
91394373605, 3 (R) GF1 7l & 71 (R), (A) 1 7t warean # |

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394373606,



(A) T& B, 9 (R) Terd & |
91394373607,

A) 3 (R Ted & |
91394373608, & 3 R®) T g

Question Number : 103 Question Id : 91394318735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The following statements relate to transnationality. Choose the correct code for the
statements being correct or incorrect.

Statement I : The UNCTAD developed an index to compare the transnationality of
countries in which TNCs operate.

Statement II : The UNCTAD followed parameters like FDI flow as a percentage of gross
fixed capital formation, FDI inward stock, value added by foreign
affiliates and jobs created by them.

Code :
Options:

Statement I is correct, but II is incorrect.
Q1394372609

Statement IT is correct, but I is incorrect.
Q1294373610

91594373511 Doth the statements I and II are correct.

9139437351 Doth the statements I and IT are incorrect.

Question Number : 103 Question Id : 91394318735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafan suai 1 day siadsdiaa @ 2 | F9A & a8 31 e d4 % ged | |dt g2 w1 v fifow
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%
Options:
w1 98t &, 9q 11 7o 2 |
91394373609
FIA T8 8, Tg [ 7Ted & |

91334573610,



Foe 1 3 11 I
91394373611 3w

FYe 1 3 11 1 Ted & |
91394373612 i g

Question Number : 104 Question Id : 91394318736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following statements relate to Restrictive Trade Practices (RTP). Choose the correct code
for the statements being correct or incorrect.

Statement I : Often the low price is the result of the predatory pricing strategy; prompting
selling at prices below cost.

Statement Il : This is done with an aim to drive out existing competitors because predatory
pricing is a restrictive trade practice.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q15942372613

Statement II is correct, but I is incorrect.
Q12943732614

91394373615, Both the statements I and II are correct.

91394373616, Both the statements I and II are incorrect.

Question Number : 104 Question Id : 91394318736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

w1 98t &, 9q 11 7o 2 |
91394373613

FIA T8 8, Tg [ 7Ted & |
91394373614,



Foe 1 3 11 I
91394373615, 3w

FYe 1 3 11 1 Ted & |
91394373616, i g

Question Number : 105 Question Id : 91394318737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Cultural differences, behavioural attitude of workers, social environment,
values and beliefs affect industrial relations and loyalty.

Reason (R): Differences relating to labour mobility and cultural influences affect the way
of addressing the superior authority.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373617,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
21394273618,

(A) is correct, but (R) is incorrect.
A1394273E19.

Both (A) and (R) are incorrect.
Q139437320

Question Number : 105 Question 1d : 91394318737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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91394373618



(A) TEt B, (R) Tefd & |
91394373619, A

A) 3 (R Ted & |
91394373620, & 3 R®) T g

Question Number : 106 Question 1d : 91394318738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Growing proportion of the world output is traded internationally, causing
faster growth of trade among nations.

HReason (R): This situation is bringing world economic integration, which is reinforced by
cross-border capital flows and regional blocs.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
1594373621,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373622,

(A) is correct, but (R) is incorrect.
Q1394373623

Both (A) and (R) are incorrect.
Q1=294273624,

Question Number : 106 Question Id : 91394318738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) T& B, 9 (R) Terd & |
91394373623,

A) 3 (R Ted & |
91394373624, & 3 R®) T g

Question Number : 107 Question 1d : 91394318739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The following two statements relate to industrial sickness. Choose the correct code for the

statements being correct or incorrect.

Statement I : The Sick Industrial Companies Act (SICA) was enacted to address a chronic
problem of industrial sickness in the Indian economy.

Statement II : SICA defined a sick industrial unit as one that had existed for at least three
years and had incurred accumulated losses equal to its entire net worth at the
end of any financial year.

Code :
Options:

Statement I is correct, but II is incorrect.
91394375625,

Statement IT is correct, but I is incorrect.
Q1294373626

91594373607 Doth the statements I and II are correct.

91394373505 Doth the statements I and IT are incorrect.

Question Number : 107 Question 1d : 91394318739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 108 Question Id : 91394318740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Identification and detection of sickness at incipient stage is the first and
foremost measure to reduce industrial sickness.

Reason (R): Sickness in small scale industries is not a sudden phenomenon but it is a
gradual process taking 5 to 7 years eroding the health of a unit beyond cure.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
91394373629,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
21394273630,

(A) is correct, but (R) is incorrect.
Q1394273631

Both (A) and (R) are incorrect.
Q139437 3R32,

Question Number : 108 Question 1d : 91394318740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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91394373631, 1
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Question Number : 109 Question 1d : 91394318741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following propounded ERG Theory of Motivation ?
Options:

91394373633, cClelland

91394373634, anner

H133457 3635,

91394373636, *hderfer

Question Number : 109 Question Id : 91394318741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafeafiaa 4 @ fraa sificron & §.amsh. fagia + sfaares foram o 2

Options:

H133457 3633,

215942736354,

91334573635,

B133457 3636,

Question Number : 110 Question Id ;: 91394318742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Entrepreneurial innovation and experimentation constantly destroy the old
and introduce new equilibria, making possible higher standards of living.

Reason (R):  Markets do not passively tend towards equilibrium until profit margins are
wiped out.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
21394373637,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
215942736358,

(A) is correct, but (R) is incorrect.
Al1294373E39,

Both (A) and (R) are incorrect.
Q1394373540

Question Number : 110 Question Id : 91394318742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 111 Question Id : 91394318743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

ListI List IT
(a) Fabian Entrepreneurs (i) Industry leaders
(b) Drone Entrepreneurs (ii) Found in the places where there is a lack of resources
(¢) Imitating Entrepreneurs (iii) Reluctant to change

(d) Innovative Entrepreneurs (iv) Skeptical about the changes to be made in the
organization

Code :
Options:

(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394373641,

(a)—(iv), (b)-(ii), (e)-(iii), (d)—(i)
91234273642,

(a)(iii), (b)(ii), (e)—(iv), (d)—(1)
91394373643,

(a)—i), (b)—(ii), (e)—(iv), (d)—(iii)
91394373644,

Question Number : 111 Question Id : 91394318743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—iv), (b)(iii), (e)-(ii), (d)—(i)
913394373641,

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394373642,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91234273643,

(a)—(1), (b)—(ii), (e)—(iv), (d)—iii)
91394373644,

Question Number : 112 Question Id : 91394318744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following are associated with the concept of “Entrepreneurship” ?

(i) Richard Cantillon
(ii) Lionel Robbins

(ili) Adam Smith

(iv) Jean-Baptiste Say
(v) Jozeph Schumpeter

Choose the correct answer from the code given below :

Code :
Options:

(i), (ii), (iii) and (iv)
91394373645,

(i), (iii), (iv) and (v)
Q1394373646

(i), (iii), (iv) and (v)
21594273647,

(1), (i), (iv) and (v)
A1 294327 3048,

Question Number : 112 Question Id : 91394318744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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91394373645,

(i), (iii), (iv) 3 (v)
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(i), (i), (iv) 3 (v)
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(), (id), (iv) 3 (v)
Q129427 3648,



Question Number : 113 Question Id : 91394318745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct code for the following statements being correct or incorrect.

Statement I : An Intrapreneur is a person within a large corporation who takes direct
responsibility for turning an idea into a profitable finished product
through assertive risk-taking and innovation.

Statement II : Intrapreneurship refers to employee initiatives in organizations to undertake
something new, without being asked to do so.

Code :

Options:

Statement I is correct, but II is incorrect.
Q1294373649

Statement II is correct, but I is incorrect.
Q1=29437 3650,
9139437355, Doth the statements I and IT are correct.
9139437355, Doth the statements I and IT are incorrect.

Question Number : 113 Question Id : 91394318745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa wu=i % wdt 1 maa §F % g d adt e 1 =57 v |
F99 1 - Tk wg o # aq.3eedt 98 safe gt & ot Fosareres w9 9 Aiflan s 9o T9ty w5
e foam it eyug TUR 300E % B9 8 ager & i g S @ )
o [1 - - Tafba & i wreA & e o 2 Fo T 9 & day | sl g R s veei 9

B

%he :
Options:

w1 8 &, 90q 11 7Teid & |
91394373649,

FU 11 T8 8, 90g [ Terd & |
91394373650,

A 1 31 11 |
913943273651, i wd &

w1 3 11 541 Terd 2 |
91394373652, T ¢

Question Number : 114 Question Id : 91394318746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Archie Carroll's model speaks of an organisation’s four most basic forms of
responsibility in order of priority.

Reason (R):  Economie, legal, ethical, philanthropic responsibilities and their compliance
increases brand value and furthers the profit.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
913942373653,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
21594273654,

(A) is correct, but (R) is incorrect.
91294272655

Both (A) and (R) are incorrect.
Q1394373656

Question Number : 114 Question Id ;: 91394318746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 115 Question Id : 91394318747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is nef a norm of corporate governance ?



Options:

91394373657 ‘ludit Committee

Woman independent director
91394373658,

Disclosure norms of Earning per share
215394273659,

Clause 49 of Listing agreement
Q1=29427 R0, &

Question Number : 115 Question Id : 91394318747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiga & @ - Frfta e = a5 oy 98 2 2
Options:

91334573657, W

a4 "igen Fews
91394373658,

aftr 379 FHTE % TR A0 WS
91394373659,

A U I FeAA 49
91394373660.

Question Number : 116 Question Id : 91394318748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Cadbury Committee (i) SEBI regulation
(b) Clause 49 of listing agreement (ii) Code of best practices
(¢) Minimum number of (iii) Ethics
specified board meetings a year
(d) Whistle blowing (iv) Companies Act, 2013
Code:
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334273661,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334273662,



(a)—(ii), (b)—(1), (e)—(iid), (d)—iv)
91394373663,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234273664,

Question Number : 116 Question 1d : 91394318748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1R wgt 1 gt 10 gt & frama fifse oftt i few o e & & vt s =t g9

T 1 Tt 1
(a) ealt afufa (i) et fafrma
(b) G F 1 FoAra 49 (i) #ws wgfa & dfgan
() o fafafdsz o€ Saei it ~mam e (i) smem-gfEar
(d) = (sEe =) (iv) Feft arfufem, 2013
% :
Options:
(a)—(i), (b)), (e)—(iii), (d)—(iv)
91394373661,
(a)=(id), (b)~(i), (e)—(iv), (d)—(iii)
41394373662,
(a)—(ii), (b)—(1), (e)(iii), (d)—(iv)
91394373663,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394373664,

Question Number : 117 Question Id : 91394318749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The United Nationg’ Inter-governmental Panel on Climate Change has
concluded that there is a discernible human influence on the global climate.

Reason (R):  The United Nations’ Groups conclusions are unformed; some experts differ
and say that a reliable estimate of the human imprint’s magnitude

remains a distance off.
Code :
Options:
Both (A) and (R) are correct and (R) is the right explanation of (A).
91294373665,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
91394373666,



(A) is correct, but (R) is incorrect.
A1394373067.

Both (A) and (R) are incorrect.
Q139437 3E68,

Question Number : 117 Question Id : 91394318749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= &t o fog o &, o @ o sfirspe (A) B Sfte @ o (R) 8 1 el 1 afen it e fqg o

Fe & TE F T I g |

afirperT (A) - G T % AT Jearyg gadft smm-amaehia Sa 3 9 Fred e 2 o6 S
SerETy TR HTHE WS § |

TE(R):  TAG U F AR o Pl ag 8 Fo faivg 398 wavg w@a 8 ot FEa & R o
W % 9fE o favanfta wrame @ & b gL e |

®e:
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q1394273065 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394373666,

(A) @& &, T0d (R) Terd & |
91394373667

A) (R Teld & |
91394373668, @) 3R (R A g

Question Number : 118 Question Id : 91394318750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The following statements relate to value based organisations. Choose the correct code for the
statements being correct or incorrect.
Statement I : People differ in their choice of values, the enforcement of one group’s value

on an individual is an ethical issue. Still there is a good deal of commonality
in the values that businesses hold.

Statement I : Ethical codes are statements of the norms and beliefs of an organisation
which are proposed, discussed and defined by the management of the firm
which is then published and distributed.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1594372669

Statement II is correct, but I is incorrect.
Q1594373670



91394373671 Both the statements I and II are correct.

91394373570 Doth the statements I and IT are incorrect.

Question Number : 118 Question Id : 91394318750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frefefiaa e gea smatfe drest & weaftia 8 | oAl & ot @1 1o €9 % dedf # wdt e 1 v
Hifer |
FyT [ @O HeE THe Aem-sre gt 2 frdt o % vew it et safe W o o fifros
forwar & | gk wTa[g SaEE™ % qEdl § Frh) € a9 GuEal gl 8 |
o 11 ; Hiferoe ge fhdt g & arel ait gmonatt % 3 e § ot fedt wd & vavs gro wearfa,
wfia aftt aftafie fape e & aft werfie vd faafa fee mo d

®e:
Options:

®Y- 1 T8 8, 9oq 11 7Tere 2 |
91394373669

w110t 8, wtg [ 7ol & |
91394373670.

F 1 31 11 I
91394373671, 3w &

FYA 1 3 11 Ted & |
91394373672, i g

Question Number : 119 Question 1d : 91394318751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The stakeholder model can be used as a tool for managers, who are asked to
handle the stakeholders relations as a guide to achieve ultimate goals.

Reason (R): Corporation is an economic institution which has a social service as well as a
profit making function while shareholder control is similar to
Adam Smith’s ‘invisible hand” argument.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
2139427367 3.

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
915394373674,



(A) is correct, but (R) is incorrect.
A139437367E5,

Both (A) and (R) are incorrect.
Q1394373676

Question Number : 119 Question Id : 91394318751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= &t o fog o &, o @ o sfirspe (A) B Sfte @ o (R) 8 1 el 1 afen it e fqg o
Fe & TE F T I g |
aifirpyT (A) - RFeleel Higd &1 I9IN U8 Yaghi & fAu v qra+ & ¥9 4 fn o1 g & fat
Fiferm wedl it wred A B U Anfede % w9 § Whurthl % dayl w durer
I a1 T A 8 |
7% (R) - frm usk anfifes g 2 Fagd arnfes gan oft &y 91 91 %W g 8 wafe

IeErest e ten fo % ‘sl S ok auE § |

He:
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394373673 T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394373674,

(A) §8 B, T (R) Teid 8 |
91394373675,

A) (R Ted & |
91394373676, @ 3 ®) T g

Question Number : 120 Question Id : 91394318752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The following statements relate to value based organisations. Choose the correct code for the

statements being correct or incorrect.

Statement I :  Nature of a corporation has been analysed by theorists as private rights
theory, social institution theory, contractual theory of the firm.

Statement Il : Nature of the corporation has been explained by input-output model under
stakeholder theory; each stakeholder group constituency is integral to
the operation of a corporation.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1594372677

Statement II is correct, but I is incorrect.
Q159437267 8,



91394373679, Both the statements I and II are correct.

91394373550, Doth the statements I and IT are incorrect.

Question Number : 120 Question Id : 91394318752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hr= P wme= % gag d 5wy fgu e R 1 wuEl & w9 e g % ded | wdt e = fifin
o1 - Toami gro fmm < vl o favemo Bl sifreert & fagra, arnfoes deamm fagm, = &
wfeerene faga F w0 d frr s 2

o 11 : Whaieet faga % swta Frm it wpfa 6t smra-frfa oies % wa & aftfa fem mn g,
Tedeh Rehateet 9qg & A & e o arfis wm )

He:
Options:

w1 T8t &, 9eq 11 7Teiel & |
91394373677

FUA 11 T8 7, 9g [ 7Teid & |
91394373678,

FYA 1 3 11 |
91394373679, e §

FyA 1 3 11 Ted & |
91394373680, A g

Question Number : 121 Question Id : 91394318753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following was the first one to use the term ‘Collective Bargaining’ ?

Options:

91394373651 C-D-H- Cole

91394373682, 1 Hoxie

91394373653, Deatrice Webb

91394373634, Rarl Marx

Question Number : 121 Question Id : 91394318753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘arfe digarsht’ weg 1 3w wdwem Frafafias 4 @ e fem a0
Options:

ot.gt.w=, wiE
91394373681,

HAMTE. giad!
91334573682, his

91334573683, a'il

91334573654, e

Question Number : 122 Question 1d : 91394318754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Sons of the soil’ policy is associated with
Options:

Discharge or Dismissal
91334373685,

91394373656,  rometion

91394373687, ecruitment

9139437365, nduction

Question Number : 122 Question Id : 91394318754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘geg st & wige Hif Feafafas 4 @ fod gafaa 8 2

Options:

e @ a@teat
91394373685,

EEEIL]

21594273686,

B133457 3657, il

YA (3HEFH)
91394373688,



Question Number : 123 Question Id : 91394318755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List IT
(a) Career (i) Sequence of work experiences that gives

opportunity to participate in many aspects
of professional area

(b) Career planning (ii) Determining career goals and identifying
means to achieve

(¢) Career path (iii) Person’s course or progress in a particular
area of work

(d) Career anchors (iv) Perceived areas of competence, motives
and values relating to professional work
choices

Code :
Options:

(a)—iii), (b)~iv), (e)-(i), (d)—(ii)
913394373689.

(a)(iii), (b)(ii), (e)-(i), (d)iv)
91394373630,

(a)iii), (b)—(1), (e)—(ii), (d)—iv)
91394373691,

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394373692

Question Number : 123 Question 1d : 91394318755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t wgl o gt 11t wgl & faram fifore oft = fow e e 9 & a&t aw =t 9fiw |

A1 gt I
(a) HER () e wEl F Een A SEETiS a7+
gl # W & @I e et §
(b) R e (i) iR @ o Fafon Fe @ ot 3 e w1 F
YA I TEEHE FHel 8

(c) =t (iii) v % &= g o safew &0 anf @
(d) HfE gurers  (iv) sHTaEnfas s fasedl @ dafia e, eyl ol
oAl o Hepfeud &
he:
Options:

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394373689.



(a)—(iii), (b)(ii), (e)—(i), (d)—iv)

91394373690,

(a)—{iii), (b)—(1), (e)—{ii), (d)—{iv)
91394373691,

(a)—(iv), (b)—(i), (e)(ii), (d){iii)
91394373692,

Question Number : 124 Question Id : 91394318756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct code for the following statements being correct or incorrect.

Statement I : Fringe benefits mean anything that includes employees’ family, that has high
social and peer recognition. They include health, security and retirement
benefits offered to full-time employees.

Statement II : Fringe benefits aim at increasing economic security of employees and are
always non-taxable in nature.

Code :

Options:

Statement I is correct, but 11 is incorrect.
91394372693,

Statement II is correct, but I is incorrect.
91394375694,
91394373695, Both the statements I and II are correct.
91394573695, Doth the statements I and IT are incorrect.

Question Number : 124 Question Id : 91394318756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafaa suat % wdt @1 7o 29 % dedl | wdl g w1 =9 Hifaw |

Fyg . Ao fedeny @ smae v ey o @ P wdenft & ofenr wive €, fag o= annfes
it Fwehedl & wT=aT Sred ® | S qofenrersn et st faw e waree, g ok

Harfrafa fagemw mite & |
o7 [ - FTN feqemy 1 wew s $ anfis gren i agmn g § 9 @ adg foweam
T & A F |
%
Options:
91394373693 F 18 R, woeg 17 § |
F9 1191 8, 90 17 B |

913345736394,



Foe 1 3 11 I
91394373695, 3w

FYe 1 3 11 1 Ted & |
91394373696, i g

Question Number : 125 Question Id : 91394318757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the reference of dispute to an agreed third party for settlement,
without the force of litigation or resort to law ?

(1) Concihation
(ii) Arbitration
(1i1) Adjudication

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
Q15924373697

Only (ii)
Q1394375698

Both (i) and (iii)
91294373699

Both (i) and (ii)
2194272700,

Question Number : 125 Question Id : 91394318757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qehgHaTAl A1 H &1 ger fee famn, st wenfe @ et var it froert % fo fyamg d@fa &
Fr=fefiga 4 & w1 Faam & 7

(i) wETeE

(ii) HeTE

(iii) srferfofr

fr= fow o e A & wdlt I+ g
C T

Options:

2153342736397,

e (ii)
91394373698,



(i) 3 (iii
91394373699, } )3

(i) 3 (i
91394373700, } ) 3

Question Number : 126 Question Id : 91394318758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is net a correct statement ?

Options:

There is a potential ground for perceived conflict to turn into reality.
Q1394373701 po Br pe &

In latent conflict, although the parties to the conflict realise the fact of conflict for various

reasons but they do not show it openly.
21394373702,

Manifest conflict is always documented.
2153942737035,

Manifest conflict in an open conflict.
91394373704,

Question Number : 126 Question Id : 91394318758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafen dd s a s adt 7 2 2
Options:
eRfoiad Gud i STEdfash S =1 G9Tfad 34T g |
91394373701

Fefera dod # o & v fafira srort & wod & ao &t S @t § Wy 38 oaw w9 8 guid 6 7
91394373702,

2912334573703, e AR

afteféra dod s aod
91394373704, &

Question Number : 127 Question Id : 91394318759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of industrial relations, match the items of List I with the items of List IT and
choose the correct answer from the code given below.

ListI List I1
(a) Conflict between managers and (i) Psychological approach
workers is normal and inescapable

(b) Both management and workers see (ii) Pluralistic approach
each other as less reliable

(¢) There is a power relationship (iii) Marxist approach
between the two classes

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iii)
91334373705,

(a)—i), (b)—(ii), (e)—(iii)
91234273706,

(a)—(ii), (b)iid), (e)-(i)
91394373707,

(a)—(iii), (h)—(ii), (e)—(i)
91334373708,

Question Number : 127 Question Id : 91394318759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afterifirer graeat & ged 4, geht 1R w5l o g 11 6 o @ fire Aifsg st R e gz 4 @
Hat I w g |

e 1 T 1T
(a) FaYeR! R FTR % o= @od ame=E () wErETeS 39T
it anafert &
(b) FEE® THT FHTR TH-GHL Bl F4 (i) wEeraTSl ITH
favaafig ara 8
() S &l & &e U 9 ey & (iii) HTerdaTEl IYTTH
C T
Options:

(a)—(ii), (b)i), (e)(iii)
91394373705,

(a)—(i), (b)—(ii), (e)—(iii)
91394373706,

(a)—(ii), (b)—(iii), (e)—i)
91334373707,

(a)—(iii), (b)(id), (e)-(i)
91394373708,



Question Number : 128 Question Id : 91394318760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The following statements relate to value based organisations. Choose the correct code for the
statements being correct or incorrect.

Statement I : The goal of any sales promotion is to create value for both the consumer and
the firm.

Statement II : Sales promotion always shifts sales from the future to now and thereby leads
to short-run benefits at the expense of long-term sales stability.

Code :

Options:

Statement I is correct, but II is incorrect.
21294373709

Statement II is correct, but I is incorrect.
91394373710,
91394373711, Both the statements I and II are correct.
9139437371 Doth the statements I and IT are incorrect.

Question Number : 128 Question Id : 91394318760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= forsht s & wafim g +u= g e § | Feel & wd @ e B9 % el | udt g w1 5.
Hifor |
Fy7]: ol oft fh vadh R s s e, SRl S g w g wE R
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e
Options:

w1 98 8, 9oq 11 7ot 2 |
91394373709,

w1 11 0dt 8, wtg 1 7Teid & |
91394373710

A 1 &t 11 |
91394373711 &

oA 1 3 11 41 Tera 7 |
941394373712, R &

Question Number : 129 Question Id : 91394318761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Luxury brands command price premiums and do not have a strong lifestyle
component.

Reason (R):  Luxury brands do not require any special considerations in how they are
sold.

Code :
Options:

Both (A) and (R) are correct and (R) is the right explanation of (A).
213942373713,

Both (A) and (R) are correct, but (R) is not the right explanation of (A).
21594273714,

(A) is correct, but (R) is incorrect.
A1294272715.

Both (A) and (R) are incorrect.
Q1394373716

Question Number : 129 Question Id : 91394318761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= 3 A fe e B, i & o arfirme (A) B 3 g@0 96 (R) 8 | Sl i afen sfi e few o
Fe & TE F T I g |
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% (R) - farenfarargd srgn % fom fandt fasy o i smrawasa =8 &t fo 38 fovm s o=
Eiell

He:
Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394373713, = el &

(A) 3R (R) ST 58t ¥, g (R), (A) 1 g&t =ame 7 2 |
91394373714,

(A) T B, (R) Tefd & |
91394373715, A

A) (R Ted & |
91394373716, (&) 3R (R) 2 g

Question Number : 130 Question Id : 91394318762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(Macro strategies for (Specific strategy)
developing customer value)
(a) Customer excellence (i) Store on the corner of a
busy intersection
(b) Operational excellence (ii) Unique merchandise
(c) Product excellence (iii) Strong relationships
with their suppliers
(d) Locational excellence (iv) Effective branding
Code:
Options:

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234273717,

(a)—(iv), (b)(ii), (e)—(i), (d)—iii)
915394273718,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91394373719

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
913943737 20.

Question Number : 130 Question Id : 91394318762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t wgl o gt 11t wgl & farama $iforg oft = fog e g2 9 & ot o =t 9f |

A1 T I
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Options:

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234273717,

(a)—(iv), (b)(ii), (e)—(i), (d)—iii)
915394273718,

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91394373719



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394373720,

Question Number : 131 Question Id : 91394318763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List I with the items of List II and choose the correct answer from the
code given below. These items relate to BCG matrix.

List I List I1

(Names of the quadrant) (Action required)

(a) Dogs (i) Have excess resources that can be spun
off to those products that need it

(b) Question marks (ii) Require a heavy resource investment to
fuel their rapid growth

(c) Cash cows (iii) Should be phased out unless they are

needed to complement the sales of
another product or for competitive

reasons
(d) Stars (iv) Require significant resources to maintain
and potentially increase their market
share
Code:
Options:
(a)—(iii), (b)—(i), (e)-(iv), (d)—(ii)
21394373721,
(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
1594373722,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
V1394373723,
(a)—ii), (b)—(iv), (e)(iii), (d)—(1)
91394373724,

Question Number : 131 Question 1d : 91394318763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



gt 1t wgl 1 gt 11t wgl & farem i st fi= R e e 4 @ ot smo=t gfw 1w g =
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et 1 et 1
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yferergt gadt wrof & IR stravEEwa T 8 qt
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(d) = (iv) 19t s feederdt it @ e taw qur 399
wutfan afg #q wafen garg=t 6 smavasa gt 2
% :
Options:
(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
91394373721
(a)—(iv), (b)—(iii), (e)—(D), (d)—(ii)
91394373722
(a)—(iii), (b)—(iv), (e)—(D), (d)—(ii)
91394373723,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394373724,

Question Number : 132 Question Id : 91394318764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which one of the following product life cycle stages a firm improves product quality and
adds new features and improved styling ?

Options:

Introduction stage
Q1394373725

Growth stage
Q1394373726

Maturity stage
153394273727, v

Decline stage
Q1394373728

Question Number : 132 Question 1d : 91394318764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
213942373725, i

afg =

215394273726,

B13345737ZE7. =

B133457372E. SR

Question Number : 133 Question Id : 91394318765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following types of retailers is “D Mart” ?

Options:

91394373729, iseount store

Super market
91334373730,

91394573731 Convenience store

Catalogue store
91394373732,

Question Number : 133 Question 1d : 91394318765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“D Mart” Fr=ferfiaa # & fora v & feem 2 2

Options:

B1334573729. X

HTehe
91394373730, g=

Frd e TR

2153942737351,

2153394273732, wK



Question Number : 134 Question Id : 91394318766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The following two statements relate to consumer behaviour. Choose the correct code for the
statements being correct or incorrect.

Statement I :  People who purchase mutual funds are more likely to believe that they
cannot predict the market and probably have an internal locus of
control.

Statement II : People who purchase stocks believe that they can predict the market and
have an external locus of control.

Code:
Options:

Statement I is correct, but II is incorrect.
Q129437237323

Statement II is correct, but I is incorrect.
Q159423737324

91294273735, Both the statements I and II are correct.

9139437575, Doth the statements I and IT are incorrect.

Question Number : 134 Question Id : 91394318766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T [1 ; S @A s () @l §, 3 9% W 8 6 S 9o % an # e 0 dehd 8 991 6
el g =1 fergua da1 2 1

B
Options:

F9A 1T 8, 90 11 7Ted & |
91394373733

w1148 ], 9g [ TTei 2 |
91394373734,

Foe 1 311 I
91394373735, 3w

FY 1 3 11 1 Ted & |
91394373736, 3 g

Question Number : 135 Question Id : 91394318767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The following two statements relate to receivables management. Choose the correct code for
the statements being correct or incorrect.

Statement I : The major controllable decision variables for deciding the credit policy are the
credit standards and analysis and the credit terms only.

Statement II : Factoring is a popular mechanism of managing, financing and collecting
receivables.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q12942373737

Statement II is correct, but I is incorrect.
Q1594373758

91394373739 Both the statements I and II are correct.

91594375740, Doth the statements I and IT are incorrect.

Question Number : 135 Question Id : 91394318767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o[- 7o Aife & A Pt o % foe v Freenfrr Pofr gesft st Sae 5o e v favenor
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% :
Options:
F9A 1T 8, 90 11 7Ted & |
91394373737
w1148 ], 9g [ TTei 2 |
91394373738,
o 1 9l 11 |
91394373739. T &
Fo 1 9 11 g1 TeAd & |
91394373740. L &

Question Number : 136 Question Id : 91394318768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The following two statements relate to Capital Asset Pricing Model. Choose the correct code
for the statements being correct or incorrect.

Statement I :  Beta is a measure of a security’s risk relative to the risk of the market
portfolio.

Statement II : The value of Beta measures both the systematic and the unsystematic risks
of a security.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1294373741

Statement II is correct, but I is incorrect.
Q1394=372742.

91394373743, Both the statements I and II are correct.

91394375744 Doth the statements I and IT are incorrect.

Question Number : 136 Question Id : 91394318768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafaa <=1 wuat & g Gt snfer geam sfoam (wfea) & 2 1 ot & gt @ maa 219 % dod
& wdt §e w1 == Hifer |
Fyg]:  aran didwiferat % sifam % arde # e wfngfe % Sifas s o der

FyT [l : w2 @ qed wfayf % saaftm aun serafeyd 1 wer & Sifast # 5 #

% :
Options:

w1 1 Od B, 9eq 11 7Teid & |
91394373741

FY 110 ], 9g [7Terd 2 |
913943273742

w1 3 11 |
91394373743, T &

Fo 1 3 11 g1 Terd 2 |
91394373744, T ¢

Question Number : 137 Question Id : 91394318769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following two statements relate to financial derivatives. Choose the correct code for the
statements being correct or incorrect.

Statement I : When an option is allowed to be exercised only on the maturity date, it is
called an American option.

Statement II : If the option holder does not lose or gain whether he exercises his option or
buys or sells the asset from the market, the option is said to be at-the-money.

Code :
Options:

Statement I is correct, but 11 is incorrect.
Q1294373745

Statement II is correct, but I is incorrect.
Q1394=372746,

91394373747 Both the statements I and II are correct.

91394375745  Doth the statements I and IT are incorrect.

Question Number : 137 Question Id : 91394318769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafaa gt wuat & gayg st sgoafal @ 2 | Sual & o8t @1 Tod §9 & dod § vt e W
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e
Options:

®Y- 1 T8 8, 9oq 11 7Tere 2 |
91394373745,

w1 110t 8, wtg 1 7Te7 & |
91394373746,

Fu 1 3 11 |
91394373747 il &

FoA 1 3 11 g1 era | |
91394373748, R ¢

Question Number : 138 Question 1d : 91394318770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 138 Question Id : 91394318770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The nominal interest rate comprises of a real interest rate and an expected
rate of inflation, and it adjusts when the inflation rate is expected to
change. Hence, in the perfect international capital markets, real rate of
returns are equal in the two countries.

Reason (R):  The international Fisher Effect states that the nominal interest rate
differential must be equal to the expected inflation rate differential

in the two countries.

Code :
Options:
Both (A) and (R) are correct and (R) is the right explanation of (A).
915924373749,

Both (A) and (R) are correct but (R) is not the right explanation of (A).
215394273750,

(A) is correct but (R) is not correct.
91394273751

Both (A) and (R) are incorrect.
Q1394373752



Question Number : 139 Question Id : 91394318771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A public limited company has 9,00,000 shares outstanding at current market price of ¥ 130
per share. The company needs T 2-25 crores to finance its proposed new project. The board
of the company has decided to issue rights shares to raise the required money at 75 per

share (as subscription price) to ensure that the rights issue is fully subseribed. How many
rights are required to purchase a new share 7

Options:

One right
A13943737VES. e

Two rights
Q1294373754 e

Three rights
Q139427375 e

Four rights
Q1=29427=75E, e

Question Number : 139 Question Id : 91394318771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ueh dfeere fafide saft % T 130 fa e 3 e a0 % 9,00,000 IR 3769 & | et it e e
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Options:

91334573753, e

3 e
91394373754,

91334573755,

|1 UEcH
B1334573756.

Question Number : 140 Question Id : 91394318772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A manufacturing company has an expected usage of 50,000 units of a certain product
during next year. The cost of processing an order is ¥ 20 and the carrying cost per unit is
T 0'50 for one year. What will be the Economic Ordering Quantity ?

Options:



91394373757 2000 units

91394373758, 2000 units

91394373759, 1000 units

91394373760, 000 units

Question Number : 140 Question Id : 91394318772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ue fafmfar soft 6t svret ad & e oo Iearg A 50,000 FFEET H I9F HF FIEE R | Th
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Options:

2500 THTIAT

91334573757,

2000 3HrEAl

91334573758,

1500 eRrEat

91334573759,

1000 S=hEat

215334273760,

Question Number : 141 Question Id : 91394318773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following will have a net change in the amount of working capital of a
company ?
Options:

Paying cash to its creditors
21394273761,

Purchasing land and making payment by issuing shares to the landowner
91394273762,

Purchasing machinery for cash
91394373763

Converting long-term loans and debentures into equi
Q1394373764 g 8 equity



Question Number : 141 Question Id : 91394318773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 142 Question 1d : 91394318774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following cases is the case of conglomerate merger 7
Options:

Brooke Bond and Lipton with Hindustan Lever
91394373765

Renusagar Power Supply and Hindaleo
Q139437 3VEE. g PP

51394373767, Vodafone India and Idea Cellular Litd.

Godrej Soaps with loss-making Godrej Innovative Chemicals
91394373768,

Question Number : 142 Question 1d : 91394318774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefafaa A shmamen o S fasa s 2 2

Options:

a8 o fores o1 femgeam offat & @9
91394373765, w

pETT giat geard 3R famsrert

9133457 376G,

atersi sfean iR amsfea dogen fafies

B13345737EY.



91394373768, MGkl Hew 1 = § = T Mt wafea Frrew & @

Question Number : 143 Question Id : 91394318775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The given statements are related to financial derivatives. Choose the correct code for the
statements being correct or incorrect.

Statement I : A speculator will gain, if he sells foreign currency under a forward contract,
when the spot price is higher than the forward price.

Statement Il : In currency futures, intra currency spread exists when a speculator
buys/sells the same currency for two delivery dates.

Code :

Options:

Statement I is correct, but II is incorrect.
91594373769

Statement II is correct, but I is incorrect.
Q124373770
41394373771 Both the statements I and II are correct.
91394375775 Doth the statements I and IT are incorrect.

Question Number : 143 Question Id : 91394318775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1334573772.

Fo 1 31 11 g1 Terd & |

Question Number : 144 Question Id : 91394318776 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following statements are related to technology transfer between countries. Choose the
correct code for the statements being correct or incorrect.

Statement I :

Statement 11 :

Code :

Options:

91334573773,

2153394273774

B1334573775.

91334573776,

Import of techniques and machinery is a mode of technology transfer.

Technology transferred through government for common welfare is
considered as free market transfer and is not subject to patent laws.

Statement I is correct, but II is incorrect.

Statement IT is correct, but I is incorrect.

Both the statements I and II are correct.

Both the statements I and II are incorrect.

:Yes

Question Number : 144 Question 1d : 91394318776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 145 Question Id : 91394318777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the context of economic groupings, which among the following, is not applicable to
common market ?

Options:

Harmonisation of economic policies
91394373777,
91394373778, Common external tariff

Free movement of labour and capital
91394373779,
51394373780 Removal of tariff barriers on intra-trade

Question Number : 145 Question Id : 91394318777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394373778
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Question Number : 146 Question 1d : 91394318778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Various bodies in the organisational structure of WTO are given below. On the basis of
decision making authority, arrange them from top to bottom and indicate the correct code.

(i) General Council

(ii) Ministerial Conference
(iii) Specialised Committees
(iv) Council for Trade in Goods

Choose the correct answer from the code given below :

Code :

Options:



(1), (1), (iv),(1ii)
913345737851,

(1), (11}, (1ii),(iv)
91334573782,

(1), (i), (iw),(1ii)
B913345737E3.

(iv), (i), (ii),(iii)
913345373754,

Question Number : 146 Question Id : 91394318778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(1i), (1), (iv),(iii)
913345373751,

(1), (ii), (1ii),(iv)
9133457 37EE.

(1), (1), (iv),(1ii)
91334573783,

(Aw), (1), (ii),(iii)
91334573754,

Question Number : 147 Question Id : 91394318779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following statements is not true relating to ‘Crawling Peg System’ of
exchange rate ?

Options:

It was introduced as an alternative to the adjustable peg system.
91394373785,

It allows a narrow margin of fluctuations as compared to adjustable sterm.
Q1394373786 ! Peg &Y



It takes a position in between the fixed exchange rate system and the flexible exchange rate

system
215394273787,

It was introduced by IMF in 1971.
91394373788,

Question Number : 147 Question Id : 91394318779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 148 Question Id : 91394318780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the components of international logistics ?
(i) Fixed facilities location

(ii) Inventory management

(iii) Order processing

Choose the correct answer from the code given below :

Code :
Options:

(1) and (ii)
Q13942737 89.

(i) and (iii)
91334573730,

(ii) and (iii)
Q1294373791

(1), (i) and (iii)
B133457 3732,

Question Number : 148 Question Id : 91394318780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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He:
Options:

(i) 3 (id)
91394373789,

(i) 3T (iid)
91394373790,

(ii) 31 (iid)
91394373791,

(1), (i) 37 (iii)
91394373792

Question Number : 149 Question 1d : 91394318781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A situation where prosperity of one sector leads to the neglect of other sectors is referred to

as
Options:

British disease phenomenon
913943737933,

Dutch disease phenomenon
21394273794,

Spanish disease phenomenon
913942737935,

French disease phenomenon
91394373796,
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Options:

farfem fedte gera
91394373793



=9 feefter geera
91394373794,

wifm feefta geera
91394373795.
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91394373796,
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In the context of regional economic integration, which of the following equations is not
correct 7
Options:

91394373797, Customs Union = Free trade area + Common external tariff

Economic Integration = Common market + Fixed exchange rate + Macro economic

9139437379g, Ccoordination

Common Market = Customs Union + NTBs + Factor mobility
91394373799,

41394373200 Free Trade Area = Customs Union — Common external tariff
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91394373799, +E *
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91394373800, I



